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6FD4F D5EGDEV6 

1039,16 1039,16 E E E 

2.1.1 &5E=VG=5 ?5D5>E=4M5==O 6G7?V6 D57G?N64==O 
?D<=<4==O EFVG=<E 6>4 =4 ��%-1� 6 <VEFV 

�>DVL=V �?46=V �>?F46EL>>W >5?4EFV 

238,73 238,73 E E E 

2.1.2 �>45D=V74FVO =4E>E=>7> >5?44=4==O =4 800,43 800,43 E E E 
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>4=4?V74FV==<E =4E>E=<E EF4=FVOE ��% 14; 
��% 15 F4 ��% 9 6 <. �>DVL=V �?46=V 

�>?F46EL>>W >5?4EFV 

2.2 �4E>4< M>4> 74557?5G5==O F5E=>?>7VG=>7> 
F4/45> >><5DFV==>7> >5?V>G D5EGDEV6 

412,00 412,00 E E E 

2.2.1 �D<454==O ?D<?44V6 >5?V>G =4 ��%F4 ��% 1� 6 
<VEFV �>DVL=V �?46=V �>?F46EL>>W >5?4EFV 

 

412,00 412,00 E E E 

2.3 �4E>4< M>4> 6?D>64465==O F4 D>76<F>G 
V=D>D<4FV==<E F5E=>?>7V= 

E E E E E 

2.4 �4E>4< M>4> <>45D=V74FVW F4 74>G?V6?V 
FD4=E?>DF=<E 74E>5V6 E?5FV4?L=>7> F4 

E?5FV4?V7>64=>7> ?D<7=4G5==O 

E E E E E 

2.5 �4E>4< M>4> ?V46<M5==O 5>>?>7VG=>W 557?5>< 
F4 >E>D>=< =46>>?<L=L>7> E5D54>6<M4 

4324,10 4324,10 E E E 

2.5.1. $5>>=EFDG>FVO 45D>4>E5?4F>DG 7 3 =4 F5D<F>DVW 
>4=4?V74FV==<E >G<E=<E E?>DG4 ?> 6G?. 
�G4V65?L=<>V6, 7 6 <VEFV �>DVL=V �?46=V 

�>?F46EL>>W >5?4EFV. 

1002,64 1002,64 E E E 

2.5.2. $5>>=EFDG>FVO 45D>4>E5?4F>DG 7 1 =4 F5D<F>DVW 
>4=4?V74FV==<E >G<E=<E E?>DG4 ?> 6G?. 
�G4V65?L=<>V6, 7 6 <VEFV �>DVL=V �?46=V 

�>?F46EL>>W >5?4EFV. 

328,92 328,92 E E E 

2.5.3. �4<V=4 D>F>D=>W ?>6VFD>4G6>< 7 L4D>N 
G?D46?V==O =4 ��% 74 44D5E>N: 6G?. 

�G4V65?L=<>V6, 7 

2992,54 2992,54 E E E 

2.6 �=LV 74E>4< 166,42 166,42 E E E 
2.6.1 �4?VF4?L=<= D5<>=F <9O>>W ?>>DV6?V 44EG $�-5 

4V?L=<FV «�4=4?V74FV==V >G<E=V E?>DG4<» <. 
�>DVL=V �?46=V. 

 

166,42 166,42    

 
'EL>7> 74 D>74V?>< �� 5941,68 5941,68 E E E 

 
'EL>7> 74 V=65EF<FV==>N ?D>7D4<>N 10922,70 10922,70 E E E 

 
_______�<D5>F>D _______ 

     (?>E44>64 >E>54 ?VF5=7V4F4) 

 
________  
(?V4?<E) 

 
%5D7V= /D>L  

(?DV76<M5, V<9O, ?> 54FL>>6V) 
�.�. 

�4G4?L=<> ??4=>6>-5>>=><VG=>7> 6V44V?G ________  
(?V4?<E) 

�V4=4 '>D=>6>?5=>> 
(?DV76<M5, V<9O, ?> 54FL>>6V) 

�=65=5D  
(?>E444 6V4?>6V44?L=>7> 6<>>=46FO) 

________  
(?V4?<E) 

�4D<=4 �DF5<5=>>  
(?DV76<M5, V<9O, ?> 54FL>>6V) 
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�>OE=N64?L=4 74?<E>4 
�>D>F>4 V=D>D<4FVO ?D> ?VF5=7V4F4 

 
�><G=4?L=5 ?V4?D<T<EF6> «�<D>5=<G5 G?D46?V==O 6>4>?D>6V4=>-

>4=4?V74FV==>7> 7>E?>44DEF64» �>DVL=L>??46=V6EL>>W <VEL>>W D44< 
�D5<5=GGFL>>7> D4=>=G �>?F46EL>>W >5?4EFV» =444T ?>E?G7< 7 6>4>?>EF4G4==O 
F4 6>4>6V46545==O 45>=5=F4< <. �>DVL=V �?46=V, �>?F46EL>>W >5?4EFV. 

�>4>?>EF4G4==O F4 6>4>6V46545==O 74V=E=NTFLEO FV?>4>5>6>.  
�65D5?>< F5=FD4?V7>64=>7> 7>E?>44DEL>>-?<F=>7> 6>4>?>EF4G4==O 

<. �>DVL=V �?46=V T ?>65DE=565 6>4>465D5?>, 4 E4<5 - ?D>F>>4 «$VG<M5», O>4 
?>6'O74=4 7 DVG>>N �=V?D> =<6G5 74 44<5G �D5<5=GGFL>>W ��% G5D57 E<EF5<G 
7D555?L V ?D>DV7V6 V <4T 6>4>>5<V= 7 =<<. &4><< G<=><, 4?O 6>4>?>EF4G4==O 
<. �>DVL=V �?46=V 6<>>D<EF>6GTFLEO 6>44 >E=>6=>7> ?>65DE=56>7> 465D5?4 
'>D4W=< 3 DVG>< �=V?D>. �>4>745VD D>7F4L>64=<= 6 >V=FV ?D>F>>< (?D>FO6=VEFN 
5?<7L>> 2 ><), O>4 D4>F<G=> 6<>>=GT D>?L ?D<D>4=>7> 6V4EFV==<>4, 45 6>44 
7=4E>4<FLEO 7=4G=<= ?D><V6>> G4EG. &5 4>76>?OT =4?5D54, L?OE>< >>=FD>?N 74 
O>VEFN 6>4< =4 6E>4V 6 ?D>F>>G, ?D>7=>7G64F< <>6?<6VEFL 6<=<>=5==O 
=5E?D<OF?<6<E E<FG4FV= 557?>E5D54=L> =4 6>4>745>DV V 74557?5G<F< 66<64==O 
E6>TG4E=<E 74E>4V6 ?> 74E<EFG E<EF5<< 6>4>?>EF4G4==O <VEF4.  

�> E>?44G E<EF5<< 6>4>?V47>F>6>< <VEF4 6E>4OFL:  
- 55D57>64 =4E>E=4 EF4=FVO 1-7> ?V4=><G 7 =4E>E>< FA 20.97Z-324 F4 

�% 4492-GU 176 7 L4D>N >5DG64==O F4 46><4 =4E>E4<<-4>74F>D4<< (AKL-800 
F4 TEKNA AKL-603);  

- 464 6<ED>6<E 7<VLG64G4; 
- 2 7>D<7>=F4?L=<E 6V4EFV==<>4 (?> 3 E5>FVW 6 >>6=><G) V7 

65G4>64=<<< >4<5D4<< ??4EFV6F5GF6>D5==O; 
- 6VEV< ?>6V?L=<E DV?LFDV6 ??>M5N 29,44 <2, >>65=; 
- G>F<D< L6<4><E DV?LFD4 ??>M5N 32 <2, >>65=; 
- E?>D4F>D=4 7 46><4 7DG?4<< E?>D4F>DV6 4?O ?5D6<==>7> F4 

6F>D<==>7> E?>DG64==O; 
- D5475=F5 7>E?>44DEF6> 7 6<>>D<EF4==O< >>=F5=FD>64=>7> D5475=FG; 
- 464 D575D6G4D< G<EF>W 6>4<, T<=VEFN 7000 <3, >>65=; 
- 464 D575D6G4D< G<EF>W 6>4< T<=VEFN 500 <3, >>65=; 
- D575D6G4D ?D><<6=<E 6>4 T<=VEFN 500 <3; 
- �4E>E=4 EF4=FVO 2-7> ?V4=><G 7 2-<4 =4E>E4<< Vilo SCP200/320 

HAC, =4E>E>< Vilo SCP400/540 HAC, =4E>E>< 400�-�, =4E>E>< �-2000-21-2, 
=4E>E>< 5 �$�, =4E>E Vilo-DrainSP121CBS-32-T115/4K, =4E>E>< Rexa 
UNIV06/M15-523/A F4 =4E>E4< FA 2593 D 7 L4D4<< >5DG64==O. 

�?O 74557?5G5==O ?>6=>F< >5?V>G 6>4>?V47>F>6>< F4 ?>44GV 6>4< 
E?>6<64G4< =4 55D57>6V= =4E>E=V= EF4=FVW 1-7> ?V4=><G (��% 71) =4E>E=V= 
EF4=FVW �� 6>4>?V4=><G (��% 72) F4 =4E>E=V= EF4=FVW ��� 6>4>?V4=><G (��% 73) 
6EF4=>6?5=V G?LFD476G>>6V ?VG<?L=<>< >5?V>G 6>4<.  

�5D6<==5 E?>DG64==O 6<EV4=>W 6>4< =4D47V 74V=E=NTFLEO 74 4>?><>7>N 
4V>>E<4G E?>DG; 

�?O 6F>D<==>7> E?>DG64==O ?5D54 ?>44G5N 6>4< G <VEL>G D>7?>4V?LGG 
<5D56G =4D47V VE=GNFL 2 F5E=>?>7VW: 
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- DV4><= E?>D; 
- 7V?>E?>D<F =4FDVN.  
�>=5446=4 ?5D6<==5 V 6F>D<==5 E?>DG64==O 74V=E=N64?>EO ?<L5 
7DV465=<< E?>D><. 

�E=>6=>N <5F>N 7=574D46G64==O 6>4< 4V>>E<4>< E?>DG F4 7V?>E?>D<F>< 
=4FDVN T WE 7=4G=V ?5D5647< =44 E?>D><, =4E4<?5D54: 

-  L<D>><= E?5>FD 5V>F<4=>W (6VDG?VF<4=>W) 4VW ; 
- 7=4G=> =<6GV 4>7<, =5>5EV4=V 4?O 7=574D465==O; 
- FD<64?<= ?D>?>=7>64=<= 5D5>F; 
- =4 6V4<V=G 6V4 E?>DG 4V>>E<4 E?>DG 557?5G=<= 6 5>E??G4F4FVW. 
�=4G=4 G4EF<=4 =4E>E=>7> F4 5=5D75F<G=>7> >5?44=4==O ��% 

6V4?D4FN64?4 4<>DF<74FV==<= F5D<V= F4 ?>FD55GT 74<V=<.  
%5D54=O D4>F<G=4 ?D>4G>F<6=VEFL 6>4>745>DG EF4=>6<FL 12 F<E. <3/4>5G. 

�V47>F>6>4 6>4< 74V=E=NTFLEO =4 DV?LFDG64?L=V= EF4=FVW ?D>5>F=>N 
?>FG6=VEFN 50 F<E. <3/4>5G V ?5D5454G4T 46>EEFG?5=56G >G<EF>G 6>4<: 
6V4EF>N64==O F4 DV?LFDG64==O. '5D57 =54>7DG65=VEFL EF4=FVW, L6<4>VEFL 
DV?LFDG64==O =<7L>4, G 76`O7>G 7 65?<>>N ??>M5N DV?LFDV6, F5 E?D<G<=OT 
=54>E>>=4?G D>5>FG =4E>EV6 ?D><<6=>W 6>4< 7 ?V46<M5=<< 5=5D7>E?>6<64==O<.  

%F4=>< =4 31.12.2022 D.:  
�> E<EF5<< 6>4>?>EF4G4==O <VEF4 F4>>6 6E>4OFL 13 ?V46<MG64?L=<E 

=4E>E=<E EF4=FV= (��% =4 &&� 10 <V>D>D4=>=G; ��% =4 &&� 12 <V>D>D4=>=G; 
��% =4 &&� 15 <V>D>D4=>=G; ��% ?> 6G?<FV �>5D>6>?LEL>>7>, 28; ��% ?> 
6G?<FV �5D>W6 �=V?D4, 36; ��% ?> 6G?<FV �5D>W6 �=V?D4, 41; ��% ?> 6G?<FV 
�<DG, 31; ��% ?> 6G?<FV �5D>W6 �=V?D4, 23; ��% ?> 6G?<FV �5D>W6 �=V?D4, 24; 
��% ?> 6G?<FV �>=EF<FGFVW 18; ��% ?> 6G?<FV �5D>W6 �=V?D4, 17/10; ��% ?> 
6G?<FV �5D>W6 �=V?D4, 10/13; ��% ?> 6G?<FV �>DF>6V=, 1,3) F4 D>7?>4V?L=V 
6>4>?D>6V4=V <5D56V, O>V 6 FV?><G ?> <VEFG <4NFL ?D>FO6=VEFL 118,608 ><, V7 
=<E <4NFL D>7DO4 464DV==<E F4 ?>FD55GNFL =574==>W D5=>64FVW 15 >< FDG5, M> 
7G<>6?NT G4EFV 464DVW, 65?<>V 6FD4F< 6>4<, ?5D55>W G 6>4>?>EF4G4==V, 7=<65==O 
F<E>G F4 ?>6F>D=5 745DG4=5==O 6>4<. �D>FO7>< D>>G 74<V=NTFLEO 5?<7L>> 
1,03 % FDG5. �V?L>VEFL 464DV= =4 6>4>?D>6V4=<E <5D564E 74 2022 DV> 3 59 LF., 
M> E>?444T 0,5 ?>D<6< =4 1 >< 74 DV>. �474?L=<= 7=>E <5D56 6>4>?>EF4G4==O 
E>?444T 84,9 %, 7 =<E 464DV==<E 3 12,65 %.  

%<EF5<4 6>4>6V46545==O (EF4=>< =4 31.12.2022 D.) E>?444TFLEO V7 
E4<>??<6=<E >>?5>F>DV6, >4=4?V74FV==<E =4E>E=<E EF4=FV= (��%) 715, 78, 79, 
710, 713, 714, 715, 716, 717, 718, 719, 720, 7 21; 7 22; 7 23, 7 24 
=4?VD=<E FDG5>?D>6>4V6 F4 >4=4?V74FV==<E >G<E=<E E?>DG4 (��%). 

%FVG=V 6>4< E4<>??<6=<<< >>?5>F>D4<< =44E>4OFL 4> 15-F< 
>4=4?V74FV==<E =4E>E=<E EF4=FV=, 4 ?>FV< 4> 7>?>6=>W ��% 1 �. �>?>6=4 ��% 
71� 46><4 EF4?56<<< FDG5>?D>6>4< 4V4<5FD>< 6V4 500 4> 1000 << ?5D5>4GGT 
EFVG=V 6>4< 557?>E5D54=L> =4 >4=4?V74FV==V >G<E=V E?>DG4< (��%).  

�4=4?V74FV==V >G<E=V E?>DG4< E>?444NFLEO V7 >><??5>EG E?>DG4 4?O 
<5E4=VG=>7> F4 ?>6=>7> 5V>?>7VG=>7> >G<M5==O EF>>V6 7 =4EFG?=<< 
4>>G<M5==O< WE =4 5V>DV?LFD4E. �G<M5=V EF>>< E><44NFLEO 6 �� 6V4EV> 
E6>EF>EE>6<M4 ��& «�>?F46EL><= ���».  

�D
VF
V=
A<
= 
E4
=F

 �
BD
VL
AL
BC
?4
6A
V6
EL
>B
W @
VEL
>B
W D
44
< 
�B
?F
46
EL
>B
W B
5?
4E
FV



21 

 

�D>5>F=4 ?>FG6=VEFL - 35 F<E. <3/4>5G. $4>F<G=>, 6 E5D54=L><G, 
>G<MGTFLEO 8,6 F<E. <3 EF>>V6 =4 4>5G. 

%<EF5<4 >4=4?V74FVW <VEF4, O>4 FD4=E?>DFGT =4 >G<E=V E?>DG4< ?>5GF>6V 
EF>>< T D>74V?L=>N.  

�474?L=4 4>66<=4 <5D56 >4=4?V74FVW <VEF4, O>V ?5D55G64NFL =4 54?4=EV F4 
>5E?G7>6G64==V EF4=>< =4 31.12.2022 D. E>?444T 93,625 >< >4=4?V74FV==<E <5D56 
(7 =<E 5,97 >< 3 7>?>6=V >>?5>F>D<). �4F5DV4? FDG5>?D>6>4V6 3 >5D4<V>4, GG7G=, 
EF4?L, 74?V7>55F>=, �%�, ��, <4NFL =5744>6V?L=<= EF4= F4 ?>FD55GNFL =574==>W 
74<V=< 16 ><, ?D>FO7>< D>>G 74<V=NTFLEO 5?<7L>> 0,03 %. �474?L=<= 7=>E 
>4=4?V74FV==>W <5D56V <VEF4 E>?444T 73,7 %, 7 =<E 464DV==<E 3 17,09%. 

� 769O7>G 7 6<E>><< EFG?5=5< 74D>EF4==O 6=GFDVL=L>7> ?5D5DV7G 
>4=4?V74FV==<E E4<>??<6=<E FDG5>?D>6>4V6 F4 ?D>D>EF4==O >>D5=V6 45D56, O>V 
5G?< ?>E4465=V 5474F> D>>V6 =4744, 557?>E5D54=L> F4 6 >E>D>==<E 7>=4E <5D56 
>4=4?V74FVW, 6<=<>4NFL G4EFV ?V4?>D<. 

�4 2022 DV> 6<=<>?> 4 464DVW F4 271 ?V4?>DV6. 
�=4G=4 G4EF<=4 =4E>E=>7> F4 5=5D75F<G=>7> >5?44=4==O ��% F4 ��% 

6V4?D4FN64?4 4<>DF<74FV==<= F5D<V= F4 ?>FD55GT 74<V=< =4 EGG4E=V 
5=5D7>5D5>F<6=V 4=4?>7<.  

�=4?V7GNG< EF4= 6>4>?D>6V4=>->4=4?V74FV==>7> 7>E?>44DEF64 <. �>DVL=V 
�?46=V, =5 <>6=4 =5 747=4G<F< 65?<>G >V?L>VEFL =474?L=<E F4 E5D=>7=<E 
?D>5?5<, O>V 6 ?>44?LL><G <>6GFL ?D<765EF< 4> 7D<6V6 G 6>4>?>EF4G4==V F4 
6>4>6V46545==V <VEF4, F4 E?D<G<=<F< =574F<6=V 5>>?>7VG=V =4E?V4><. 

�E=GNGV 6>4>?D>6V4=V F4 >4=4?V74FV==V <5D56V F4 E?>DG4< <VEF4, 
?>5G4>64=V G 60-E, 70-E, 80-E D>>V6 - D4>F<G=> 7=>L5=V. 

�E=>6=<<< ?D>5?5<=<<< ?<F4==O<< E<EF5<< 6>4>74557?5G5==O <VEF4 T:  
- =5744>6V?L=<= EF4= 6>4>?D>6V4=<E <5D56. '5D57 7=>L5=VEFL 

FDG5>?D>6>4V6, 74?VD=>W 4D<4FGD< F4 ?>656=<E 7V4D4=FV6, <5D56V <4NFL 7=4G=V 
6<F>><, M> ?D<76>4<FL 4> ?5D56<FD4F 5?5>FD>5=5D7VW, ?V4F>??5==N F5D<F>DVW F4 
EF6>DNT D<7<> 6<=<>=5==O 6F>D<==>7> 745DG4=5==O 6>4<; 

- 74EF4DV?5 F4 5=5D7>T<=5 >5?44=4==O.  
�E=>6=<<< ?D>5?5<=<<< ?<F4==O<< >4=4?V74FV==>W E<EF5<< <VEF4 T:  
- =5744>6V?L=<= EF4= >4=4?V74FV==<E <5D56;  
- 6V4EGF=VEFL 7=574D465==O EFVG=<E 6>4 ?VE?O <5E4=VG=>W F4 5V>?>7VG=>W 

>G<EF><;  
- 7=>L5=VEFL <5F4?>>>=EFDG>FV= F4 45D4FV==>W E<EF5<< 45D>4>E5?4F>DV6 

��%.  
' 2022-2023 D>>4E 74 6?4E=V >>LF< ?V4?D<T<EF64 ?D>6545=> D>5>F< ?> 

D5>>=EFDG>FVW 45D>4>E5?4F>DG 7 3 =4 F5D<F>DVW ��% F4 D5>>=EFDG>FVO D5LVF>> 
=4 F5D<F>DVW ��%.�D>6545=V D>5>F< =4444GFL 7<>7G ?V46<M<F< 5D5>F<6=VEFL 
>G<EF>< EFVG=<E 6>4; 

- 74EF4DV?5 F4 5=5D7>T<=5 >5?44=4==O.  
�<E>4OG< 7 G<E?5==<E ?D>5?5< <5D56 F4 E?>DG4 6>4>?>EF4G4==O F4 
6>4>6V46545==O <VEF4, 4> 6?D>64465==O ?D>?>=GNFLEO 74E>4< V=65EF<FV==>W 
?D>7D4<<, =46545=V =<6G5. �E D54?V74FVO 4>76>?<FL >FD<<4F< EGFFT6G 5>>=><VN 
5?5>FD>5=5D7VW F4 7<5=L<F< 6FD4F< 6>4< (74<V=4 =4E>E=>7> >5?44=4==O =4 
4V?L=<FV «�VEL>V <5D56V 6>4>6V46545==O» 6EF4=>6?5==O L4D G?D46?V==O 7 
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<>6?<6VEFN 6V444?5=>7> >5DG64==O ��% <VEF4, 74<V=4 6>4>?D>6V4=<E <5D56; 
F5E=VG=5 ?5D5>E=4M5==O 6>4>?D>6V4=<E <5D564E V7 74<V=>N 74?VD=>W 4D<4FGD<) 
F4, 6V4?>6V4=>, >>LFV6. �4557?5G5==O EF45V?L=>W D>5>F< ��% F4 5>>?>7VG=>W 
557?5>< <VEF4 (F5E=VG=5 ?5D5>E=4M5==O >4=4?V74FV==<E <5D56 V7 74<V=>N 
74?VD=>W 4D<4FGD<). �4E>4< 7 D5>>=EFDG>FVW $� 19 =4 6>4>>G<E=V= EF4=FVW F4 
6EF4=>6?5==O E<?>6<E M<FV6 =4 ��% 74G57?5G4FL 5?5>FD>557?5>G >59T>FV6 
6>4>?>EF4G4==O. �4E>4< 7 D5>>=EFDG>FVW 45D>4>E5?4F>DG 7 3, D5>>=EFDG>FVW 
45D>4>E5?4F>DG 7 1 =4 ��% 74 44D5E>N: 6G?. �G4V65?L=<>V6, 7, 74<V=4 D>F>D=>W 
?>6VFD>4G6>< 7 L4D>N >5DG64==O F4 D5<>=F <9O>>W ?>>DV6?V 44EG $�-5 =4444GFL 
7<>7G ?V46<M<F< 5D5>F<6=VEFL >G<EF>< EFVG=<E 6>4. &4>>6 74 D4EG=>> 
6EF4=>6?5==O ?VG<?L=<>V6 EFVG=<E 6>4 =4 6<E>4V 7 >4=4?V74FV==V= =4E>E=V= 
EF4=FVW ��% 1-� F4 ��% 4>EO74TFLEO <>6?<6VEFL 74557?5G<F< >5?V> >5EO7G 
EFVG=<E 6>4, O>V =44E>4OFL =4 7>?>6=G =4E>E=G EF4=FVN <VEF4, FD4=E?>DFGNFLEO 
F4 ?>44NFLEO =4 ��% 4?O >G<M5==O. &5 E?D>MGT <>=VF>D<=7 D>5>F< 7>?>6=>W 
>4=4?V74FV==>W =4E>E=>W EF4=FVW <VEF4 F4 >4=4?V74FV==<E >G<E=<E E?>DG4.  

�??<6 D54?V74FVW ?D>7D4<< =4 EFDG>FGDG F4D<DG F4 DV=4=E>6>-
7>E?>44DEL>G 4VO?L=VEFL - ?V4?D<T<EF64 <>65 5GF< F>G=> 6<7=4G5=<= ?<L5 
?VE?O 74>V=G5==O F5D<V=G >>G?=>EFV ?D>5>FV6, 6V4?>6V4=> 4> 4>44F>G 3. 
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'�����,���� %�$��&�$�%&���  
>59T>FV6 7 F5=FD4?V7>64=>7> 6>4>?>EF4G4==O F4 6>4>6V46545==O 

 
�><G=4?L=5 ?V4?D<T<EF6> «�<D>5=<G5 G?D46?V==O 6>4>?D>6V4=>->4=4?V74FV==>7> 

7>E?>44DEF64» �>DVL=L>??46=V6EL>>W <VEL>>W D44< �D5<5=GGFL>>7> D4=>=G �>?F46EL>>W 

>5?4EFV» 

(=4=<5=G64==O ?VF5=7V4F4) 
EF4=>< =4 31.12. 2022 DV> (12 <VEOFV6 2022 D>>G) 

7 
7/? 

�. �4=<5=G64==O F4 E4D4>F5D<EF<>4 >5'T>FV6 6>4>?>EF4G4==O �4<=<FO 
6<<VDG 

�474?L=<= 
?>>47=<> 

1 �V?L>VEFL =4E5?5=<E ?G=>FV6, O><< =444NFLEO ?>E?G7< (1*) >4. 1 
2 '<E5?L=VEFL =4E5?5==O 6 7>=V 6V4?>6V44?L=>EFV ?V4?D<T<EF64 >EV5 51832 
3 '<E5?L=VEFL =4E5?5==O, O><< =444NFLEO ?>E?G7<, GEL>7>, G F><G G<E?V: >EV5 41877 
4 557?>E5D54=L> ?V4>?NG5=<E 4> <5D56 >EV5 41877 
5 O>5 6<>>D<EF>6GT 6>4>D>75VD=V >>?>=>< >EV5 0 
6 �V?L>VEFL =4E5?5==O, M> >>D<EFGTFLEO ?D<6V7=>N ?<F=>N 6>4>N (=4E5?5==O) >EV5 0 
7 �V?L>VEFL =4E5?5==O, O>><G 6>44 ?>44TFLEO 7 6V4E<?5==O< 6V4 =>D<4F<6=<E 6<<>7 >EV5 0 
8 �V?L>VEFL E?>6<64GV6, O><< ?>E?G74 =444TFLEO 74 7D4DV>4<< >4. 0 
9 '4EF>4 E?>6<64GV6, O>4 >FD<<GT ?>E?G7< 7 ?5D55>O<< (DO4>> 8/DO4>> 10) % 0 
10 �V?L>VEFL 45>=5=FV6 6>4>?>EF4G4==O, GEL>7>, 7 =<E: >4. 22193 
11 =4E5?5==O >4. 21721 
12 5N465F=<E GEF4=>6 >4. 44 
13 V=L<E >4. 428 
14 '4EF>4 >E>??5==O ?>E?G74<< (DO4>> 3/DO4>> 2E100), G F><G G<E?V: % 80,79 
15 7 ?V4>?NG5==O< 4> <5D56 (DO4>> 4/DO4>> 3E100) % 100 
16 7 6<>>D<EF4==O< 6>4>D>75VD=<E >>?>=>> (DO4>> 5/DO4>> 3E100) % 0 
17 �V?L>VEFL 45>=5=FV6 7 >5?V>>6<< E?>6<64==O<, GEL>7>, 7 =<E: >4. 19478 
18 =4E5?5==O >4. 19006 
19 5N465F=<E GEF4=>6 >4. 44 
20 V=L<E >4. 428 
21 '4EF>4 ?V4>?NG5=L 7 >5?V>><, GEL>7> (DO4>> 17/DO4>> 10E100), 7 =<E: % 87,77 
22 =4E5?5==O (DO4>> 18/DO4>> 11E100) % 87,50 
23 5N465F=<E GEF4=>6 (DO4>> 19/DO4>> 12E100) % 100 
24 V=L<E (DO4>> 20/DO4>> 13E100) % 100 
25 �474?L=4 ?D>FO6=VEFL <5D56 6>4>?D>6>4G, 7 =<E: >< 118,608 
26 6>4>6>4V6 >< 22,400 
27 6G?<G=>W <5D56V >< 16,248 
28 6=GFDVL=L>>64DF4?L=>W F4 46>D>6>W <5D56V >< 79,960 
29 -V?L=VEFL ?V4>?NG5=L 4> <5D56V 6>4>?>EF4G4==O (DO4>> 10/DO4>> 25) >4./>< 187,11 
30 �474?L=4 ?D>FO6=VEFL 65FE<E F4 464DV==<E <5D56, 7 =<E: >< 15,00 
31 6>4>6>4V6 >< 3,60 
32 6G?<G=>W <5D56V >< 6,00 
33 6=GFDVL=L>>64DF4?L=>W F4 46>D>6>W <5D56V >< 5,40 
34 '4EF>4 65FE<E F4 464DV==<E <5D56 (DO4>> 30/DO4>> 25E100), 7 =<E: % 12,65 
35 6>4>6>4V6 (DO4>> 31/DO4>> 26E100) % 16,07 
36 6G?<G=>W <5D56V (DO4>> 32/DO4>> 27E100) % 36,93 
37 6=GFDVL=L>>64DF4?L=>W F4 46>D>6>W <5D56V (DO4>> 33/DO4>> 28E100) % 6,75 
38 �V?L>VEFL ?5DE>=4?G 6 ?V4D>74V?4E 6>4>?>EF4G4==O 74 D>7>?44>< >EV5 79 
39 $4>F<G=4 G<E5?L=VEFL ?5DE>=4?G 6 ?V4D>74V?4E 6>4>?>EF4G4==O >EV5 55 
40 '<E5?L=VEFL ?5DE>=4?G =4 1000 ?V4>?NG5=L (DO4>> 39/DO4>> 10E1000) >E./1000 >4. 2,48 
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41 '<E5?L=VEFL ?5DE>=4?G =4 1 >< <5D56V (DO4>> 39/DO4>> 25) >EV5/1 >< 0,46 
42 �5EO7 ?V4=OF>W 6>4< 74 DV> F<E.<-

3/DV> 4320,60 
43 %5D54=L>4>5>6<= ?V4=>< 6>4< =4E>E=<<< EF4=FVO<< � ?V4=><G F<E.<-

3/4>5G 11,84 
44 �5EO7 74>G??5=>W 6>4< 7V EF>D>=< 74 DV> F<E.<-

3/DV> 0 
45 �5EO7 >G<M5==O 6>4< =4 >G<E=<E E?>DG44E 74 DV> F<E.<-

3/DV> 3752,79 
46 %5D54=L>4>5>65 >G<M5==O 6>4< =4 >G<E=<E E?>DG44E F<E.<-

3/4>5G 10,25 
47 �5EO7 ?>44=>W 6>4< G <5D56G 74 DV> F<E.<-

3/DV> 3643,26 
48 %5D54=L>4>5>64 ?>44G4 6>4< G <5D56G F<E.<-

3/4>5G 9,95 
49 �5EO7 D54?V7>64=>W 6>4< GEV< E?>6<64G4< 74 DV>, G F><G G<E?V: F<E.<-

3/DV> 2640,29 
50 =4E5?5==N F<E.<-

3/DV> 1386,06 
51 �<FD4F< =4 F5E=>?>7VG=V ?>FD55< (DO4>> 52+DO4>> 53), GF><G G<E?V: F<E.<-

3/DV> 578,48 
52 6<FD4F< =4 F5E=>?>7VG=V ?>FD55< 4> <5D56V F<E.<-

3/DV> 567,81 
53 6<FD4F< =4 F5E=>?>7VG=V ?>FD55< G <5D56V F<E.<-

3/DV> 10,67 
54 '4EF>4 F5E=>?>7VG=<E 6<FD4F (DO4>> 51/(DO4>> 42+DO4>> 44)E100) % 13,39 
55 �5EO7 6FD4F 6>4< 6EL>7> (DO4>> 56+DO4>> 57), G F><G G<E?V: F<E.<-

3/DV> 1101,83 
56 >5EO7 6FD4F 6>4< 4> <5D56V (DO4>> 42+DO4>> 44-DO4>> 47-DO4>> 52) F<E.<-

3/DV> 109,53 
57 >5EO7 6FD4F 6>4< G <5D56V (DO4>> 47-DO4>> 49-DO4>> 53) F<E.<-

3/DV> 992,3 
58 '4EF>4 6FD4F 4> ?>44=>W 6>4< G <5D56G (DO4>> 57/DO4>> 47E100) % 27,24 
59 �5EO7 6FD4F 6>4< =4 1 >< <5D56V 74 DV> (DO4>> 57/DO4>> 25) F<E.<-

3/>< 8,37 
60 �<D>5=<FF6> 6>4< =4 1 >E>5G (DO4>> 47/DO4>> 3E1000000/365) ?/4>5G 238,35 
61 �>4>E?>6<64==O 1 ?N4<=>N 6 45=L (DO4>> 50/DO4>> 3E1000000/365) ?/4>5G 90,68 
62 �V?L>VEFL D575D6G4DV6 G<EF>W 6>4<, 54LF, >>?>= >4. 8 
63 $>7D4EG=>>6<= >59T< 74?4EV6 ?<F=>W 6>4< F<E.<-

3 27,00 
64 �4O6=<= >59T< 74?4EV6 ?<F=>W 6>4< F<E.<-

3 27,00 
65 �4557?5G5=VEFL E?>DG44<< 74?4EV6 6>4< (DO4>> 64/DO4>> 63E100) % 100 
66 �V?L>VEFL ?>65DE=56<E 6>4>745>DV6 >4. 1 
67 �V?L>VEFL ?V475<=<E 6>4>745>DV6, 7 =<E: >4. 0 
68 >V?L>VEFL E65D4?>6<= >4. 0 
69 �V?L>VEFL >>D5<<E E65D4?>6<= >4. 0 
70 �V?L>VEFL =4E>E=<E EF4=FV= � ?V4=><G (DO4>> 66+DO4>> 67+DO4>> 69) >4. 1 
71 �V?L>VEFL =4E>E=<E EF4=FV= ��, ��� V 6<M5 ?V4=><V6 >4. 2 
72 �<FD4F< 5?5>FD<G=>W 5=5D7VW =4 ?V4=>< 6>4< F<E.>�F/7>4 314,13 
73 �<F><V 6<FD4F< 5?5>FD<G=>W 5=5D7VW =4 ?V4=>< 1 <-

3 6>4< >�F*7>4/<-

3 0,07 
74 �V?L>VEFL >><??5>EV6 >G<E=<E E?>DG4 6>4>?>EF4G4==O >4. 1 
75 �<FD4F< 5?5>FD<G=>W 5=5D7VW =4 >G<M5==O 6>4< F<E.>�F/7>4 314,13 
76 �<F><V 6<FD4F< 5?5>FD<G=>W 5=5D7VW =4 >G<M5==O 1 <-

3 6>4< >�F*7>4/<-

3 0,08 
77 �V?L>VEFL =4E>E=<E EF4=FV= ?V4>4GG64==O 6>4< >4. 13 
78 �V?L>VEFL 6EF4=>6?5=<E =4E>E=<E 47D574FV6 =4E>E=<E EF4=FV= 6>4>?>EF4G4==O >4. 53 
79 �V?L>VEFL =4E>E=<E 47D574FV6, O>V 6V4?D4FN64?< 4<>DF<74FV==<= F5D<V= >4. 15 
80 �<FD4F< 5?5>FD<G=>W 5=5D7VW =4 ?5D5>4GG64==O 6>4< F<E.>�F/7>4 267,59 
81 �<F><V 6<FD4F< 5?5>FD<G=>W 5=5D7VW =4 ?>44GG 1 <-

3 6>4< G <5D56G >�F*7>4./<-

3 0,07 
82 �V?L>VEFL ?D<?44V6 F5E=>?>7VG=>7> >5?V>G >4. 5 
83 �V?L>VEFL ?D<?44V6 F5E=>?>7VG=>7> >5?V>G, O>V =5>5EV4=> ?D<454F< >4. 19 
84 �4557?5G5=VEFL ?D<?444<< F5E=>?>7VG=>7> >5?V>G (DO4>> 83/DO4>> 82E100) % 21 
85 �V?L>VEFL E<EF5< 7=574D465==O, GEL>7>, G F><G G<E?V 7 6<>>D<EF4==O<: >4. 3 
86 DV4>>7> E?>DG >4. 1 
87 7V?>E?>D<4G >4. 1 
88 7V4D>>E<E?>D<4 4?N<V=VO >4. 1 
89 �V?L>VEFL E<EF5< 7=574D465==O, O>V 6V4?D4FN64?< 4<>DF<74FV==<= F5D<V= >4. 0 
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90 �V?L>VEFL ?45>D4F>DV= >4. 1 
91 �V?L>VEFL <4=EF5D5=L >4. 1 
92 �V?L>VEFL E?5FV4?L=<E F4 E?5FV4?V7>64=<E FD4=E?>DF=<E 74E>5V6 >4. 1 
93 'EF4=>6?5=4 6<D>5=<G4 ?>FG6=VEFL 6>4>?D>6>4G F<E.<-

3/4>5G 113,8 
94 'EF4=>6?5=4 7474?L=4 ?>FG6=VEFL 6>4>745>DV6 F<E.<-

3/4>5G 78,0 
95 'EF4=>6?5=4 6<D>5=<G4 ?>FG6=VEFL >G<E=<E E?>DG4 F<E.<-

3/4>5G 50,0 
96 �<>>D<EF4==O ?>FG6=>EFV 6>4>?D>6>4G (DO4>> 47/365/DO4>> 93E100) % 8,77 
97 �<>>D<EF4==O ?>FG6=>EFV 6>4>745>DV6 (DO4>> 42/365/DO4>> 94E100) % 15,18 
98 �<>>D<EF4==O ?>FG6=>EFV >G<E=<E E?>DG4 (DO4>> 45/365/DO4>> 95E100) % 20,56 
99 �V?L>VEFL 464DV= =4 <5D56V 6>4>?>EF4G4==O 74 DV>  464DVW 59 

100 �64DV==VEFL =4 <5D56V 7 D>7D4EG=>G =4 1 >< (DO4>> 99/DO4>> 25) 464DVW/>< 0,5 
101 �<FD4F< 5?5>FD<G=>W 5=5D7VW =4 6>4>?>EF4G4==O 74 DV>  F<E.>�F/7>4 1565,23 
102 �<FD4F< =4 5?5>FD<G=G 5=5D7VN =4 6>4>?>EF4G4==O 74 DV>  F<E.7D= 8401,90 
103 �<F><V 6<FD4F< 5?5>FD<G=>W 5=5D7VW =4 1<-

3 6>4< (DO4>> 101/(DO4>> 42+DO4>> 44) >�F*7>4/<-

3 0,36 
104 �<FD4F< 7 >?5D4FV==>W 4VO?L=>EFV 6>4>?>EF4G4==O 74 DV> F<E.7D= 46461,50 
105 �>E??G4F4FV==V 6<FD4F< =4 >4<=<FN ?D>4G>FVW (DO4>> 104/DO4>> 49) 7D=./<-

3 17,60 
106 �<FD4F< =4 >??4FG ?D4FV 74 DV>  F<E.7D= 18223,50 
107 %?V66V4=>L5==O 6<FD4F =4 >??4FG ?D4FV (DO4>> 106/DO4>> 104E100) % 39,22 
108 %?V66V4=>L5==O 6<FD4F =4 5?5>FD<G=G 5=5D7VN (DO4>> 102/DO4>> 104E100) % 18,08 
109 �<FD4F< =4 ?5D5><44==O 6>4< G <4?>6>4=V D57V>=< 74 DV> F<E.7D= 0 
110 %?V66V4=>L5==O 6<FD4F =4 ?5D5><44==O 6>4< (DO4>> 109/DO4>> 104E100) % 0 
111 �<>DF<74FV==V 6V4D4EG64==O 74 DV> F<E.7D= 4956,10 
112 �<>>D<EF4=> >>LFV6 74 D4EG=>> 4<>DF<74FV==<E 6V4D4EG64=L 74 DV> F<E.7D= 2317,71 
113 %?V66V4=>L5==O 4<>DF<74FV==<E 6V4D4EG64=L (DO4>> 111/DO4>> 104E100) % 10,67 
7 
7/? 

��. �4=<5=G64==O F4 E4D4>F5D<EF<>4 >5'T>FV6 6>4>6V46545==O �4<=<FO 
6<<VDG 

�474?L=<= 
?>>47=<> 

1 �V?L>VEFL =4E5?5=<E ?G=>FV6, O><< =444NFLEO ?>E?G7< (2*) >4. 1 
2 '<E5?L=VEFL =4E5?5==O 6 7>=V 6V4?>6V44?L=>EFV ?V4?D<T<EF64 >EV5 51832 
3 '<E5?L=VEFL =4E5?5==O, O><< =444NFLEO ?>E?G7<, GEL>7>, G F><G G<E?V: >EV5 41475 
4 557?>E5D54=L> ?V4>?NG5=<E 4> <5D56 >EV5 41475 
5 O>5 FD4=E?>DFGT EFVG=V 6>4< =4 >G<E=V E?>DG4< 7 6<7DV5=<E O<, E5?F<>V6 >EV5 0 
6 �V?L>VEFL ?V4>?NG5=L 4> <5D56V 6>4>6V46545==O, GEL>7>, 7 =<E: >4. 21932 
7 =4E5?5==O >4. 21474 
8 5N465F=<E GEF4=>6 >4. 45 
9 V=L<E >4. 413 
10 '4EF>4 >E>??5==O ?>E?G74<< (DO4>> 3/DO4>> 2E100), G F><G G<E?V: % 80,02 
11 7 ?V4>?NG5==O< 4> <5D56 (DO4>> 4/DO4>> 3E100) % 100 
12 7 6<>>D<EF4==O< 6<7DV5=<E O<, E5?F<>V6 (DO4>> 5/DO4>> 3E100) % 0 
13 �V?L>VEFL ?V4>?NG5=L 7 ?5D6<==<< >G<M5==O< EFVG=<E 6>4 >4. 0 
14 '4EF>4 7 ?5D6<==<< >G<M5==O< EFVG=<E 6>4 (DO4>> 13/DO4>> 6E100) % 0 
15 �474?L=4 ?D>FO6=VEFL <5D56 6>4>6V46545==O, 7 =<E: >< 93,625 
16 7>?>6=<E >>?5>F>DV6 >< 5,97 
17 =4?VD=<E FDG5>?D>6>4V6 >< 6,062 
18 6G?<G=>W <5D56V >< 14,147 
19 6=GFDVL=L>>64DF4?L=>W F4 46>D>6>W <5D56V >< 67,445 
20 -V?L=VEFL ?V4>?NG5=L 4> <5D56V 6>4>6V46545==O (DO4>> 6/DO4>> 15) >4./>< 234,25 
21 �474?L=4 ?D>FO6=VEFL 65FE<E F4 464DV==<E <5D56, 7 =<E: >< 16 
22 7>?>6=<E >>?5>F>DV6 >< 0 
23 =4?VD=<E FDG5>?D>6>4V6 >< 0 
24 6G?<G=>W <5D56V >< 4,5 
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25 6=GFDVL=L>>64DF4?L=>W F4 46>D>6>W <5D56V >< 11,5 
26 '4EF>4 65FE<E F4 464DV==<E <5D56 (DO4>> 21/DO4>> 15E100), 7 =<E: % 17,09 
27 7>?>6=<E >>?5>F>DV6 (DO4>> 22/DO4>> 16E100) % 0 
28 =4?VD=<E FDG5>?D>6>4V6 (DO4>> 23/DO4>> 17E100) % 0 
29 6G?<G=>W <5D56V (DO4>> 24/DO4>> 18E100) % 31,81 
30 6=GFDVL=L>>64DF4?L=>W F4 46>D>6>W <5D56V (DO4>> 25/DO4>> 19E100) % 17,05 
31 '<E5?L=VEFL ?5DE>=4?G 6 ?V4D>74V?4E 6>4>6V46545==O 74 D>7>?44>< >EV5 88 
32 $4>F<G=4 G<E5?L=VEFL ?5DE>=4?G 6 ?V4D>74V?4E 6>4>6V46545==O >EV5 68 
33 '<E5?L=VEFL ?5DE>=4?G =4 1000 ?V4>?NG5=L (DO4>> 32/DO4>> 6E1000) >E./1000 >4. 3,10 
34 '<E5?L=VEFL ?5DE>=4?G =4 1 >< <5D56V (DO4>> 32/DO4>> 15) >EV5/1 >< 0,73 
35 �5EO7 6V46545=<E EFVG=<E 6>4 74 DV>, GEL>7>, G F><G G<E?V: F<E.<-

3/DV> 2955,38 
36 ?D<==OF> 6V4 V=L<E E<EF5< 6>4>6V46545==O F<E.<-

3/DV> 673,28 
37 %5D54=L>4>5>65 ?5D5>4GG64==O EFVG=<E 6>4 F<E.<-

3/4>5G 8,10 
38 �D>?GM5=> G5D57 >G<E=V E?>DG4< 74 DV>, GEL>7>, G F><G G<E?V: F<E.<-

3/DV> 2955,38 

39 7 ?>6=<< 5V>?>7VG=<< >G<M5==O< F<E.<-

3/DV> 2955,38 

40 7 4>>G<M5==O< F<E.<-

3/DV> 2955,38 

41 %5D54=L>4>5>65 >G<M5==O EFVG=<E 6>4 =4 >G<E=<E E?>DG44E F<E.<-

3/4>5G 8,10 
42 �5EO7 E><=GF<E EFVG=<E 6>4 74 DV> 557 >G<M5==O (DO4>> 35-DO4>> 38) F<E.<-

3/DV> 0 
43 '4EF>4 E><=GF<E EFVG=<E 6>4 557 >G<M5==O (DO4>> 42/DO4>> 35E100) % 0 
44 �5EO7 =54>EF4F=L> >G<M5=<E E><=GF<E EFVG=<E 6>4 (DO4>> 35-DO4>> 39) F<E.<-

3/DV> 0 
45 '4EF>4 =54>EF4F=L> >G<M5=<E EFVG=<E 6>4 (DO4>> 44/DO4>> 35E100) % 0 
46 �5D544=> EFVG=<E 6>4 V=L<< E<EF5<4< =4 >G<M5==O 74 DV> F<E.<-

3/DV> 0 
47 '4EF>4 ?5D544=<E EFVG=<E 6>4 =4 >G<M5==O (DO4>> 46/DO4>> 35E100) % 0 
48 �5EO7 D54?V7>64=<E ?>E?G7 ?> 6>4>6V46545==N GEV< E?>6<64G4< 74 DV>, G F><G G<E?V: F<E.<-

3/DV> 2523,14 
49 =4E5?5==N F<E.<-

3/DV> 1653,46 
50 �V?L>VEFL 74E<VG5=L G <5D56V 6>4>6V46545==O 74 DV>  >4. 254 
51 �4E<VG5=VEFL =4 <5D56V 7 D>7D4EG=>G =4 1 >< (DO4>> 50/DO4>> 15) >4./>< 2,71 
52 �V?L>VEFL 464DV= 6 <5D56V 6>4>6V46545==O 74 DV>  464DVW/DV> 4 
53 �64DV==VEFL =4 <5D56V 7 D>7D4EG=>G =4 1 >< (DO4>> 52/DO4>> 15) 464DVW/>< 0,04 
54 �5EO7 6V46545=<E EFVG=<E 6>4 =4 1 >E>5G (DO4>> 35/DO4>> 3E1000000/365) ?/4>5G 195,22 
55 �5EO7 >G<M5==O EFVG=<E 6>4 =4 1 >E>5G (DO4>> 39/DO4>> 3E1000000/365) ?/4>5G 195,22 
56 �V?L>VEFL =4E>E=<E EF4=FV= ?5D5>4GG64==O EFVG=<E 6>4 >4. 16 
57 �V?L>VEFL >G<E=<E E?>DG4 6>4>6V46545==O >4. 1 
58 �474?L=4 >V?L>VEFL =4E>E=<E 47D574FV6 =4E>E=<E EF4=FV= 6>4>6V46545==O >4. 60 

59 �V?L>VEFL =4E>E=<E 47D574FV6, O>V 6V4?D4FN64?< 4<>DF<74FV==<= F5D<V= >4. 20 
60 �V?L>VEFL E<EF5< 7=574D465==O, GEL>7>, G F><G G<E?V 7 6<>>D<EF4==O<: >4. 0 
61 DV4>>7> E?>DG >4. 0 
62 7V?>E?>D<4G >4. 0 
63 G?LFD4DV>?5FG >4. 0 
64 �V?L>VEFL E<EF5< 7=574D465==O, O>V 6V4?D4FN64?< 4<>DF<74FV==<= F5D<V= >4. 0 
65 �V?L>VEFL ?45>D4F>DV= >4. 1 
66 �V?L>VEFL <4=EF5D5=L >4. 0 
67 �V?L>VEFL E?5FV4?L=<E F4 E?5FV4?V7>64=<E FD4=E?>DF=<E 74E>5V6 >4. 4 
68 'EF4=>6?5=4 ?>FG6=VEFL 6>4>6V46545==O F<E.<-

3/4>5G 187,20 
69 �474?L=4 GEF4=>6?5=4 ?>FG6=VEFL =4E>E=<E EF4=FV= 6>4>6V46545==O F<E.<-

3/4>5G 116,02 
70 'EF4=>6?5=4 ?>FG6=VEFL >G<E=<E E?>DG4 6>4>6V46545==O F<E.<-

3/4>5G 35,0 
71 '4EF>4 6<>>D<EF4==O 6>4>6V46545==O (DO4>> 35/365/DO4>> 68E100) % 4,33 
72 '4EF>4 6<>>D<EF4==O >G<E=<E E?>DG4 (DO4>> 38/365/DO4>> 70E100) % 23,13 
73 �<FD4F< 5?5>FD<G=>W 5=5D7VW =4 6>4>6V46545==O 74 DV>, 7 =<E: F<E.>�F*7>4 1961,59 
74 7474?L=V 6<FD4F< 5?5>FD<G=>W 5=5D7VW =4 >G<M5==O EFVG=<E 6>4 F<E.>�F*7>4 1566,78 

�D
VF
V=
A<
= 
E4
=F

 �
BD
VL
AL
BC
?4
6A
V6
EL
>B
W @
VEL
>B
W D
44
< 
�B
?F
46
EL
>B
W B
5?
4E
FV



27 

 

75 ?<F><V 6<FD4F< 5?5>FD<G=>W 5=5D7VW =4 >G<M5==O 1 <-

3 EFVG=<E 6>4 (DO4>> 74/DO4>> 
73E100) 

>�F*7>4/<-

3 0,53 

76 7474?L=V 6<FD4F< 5?5>FD<G=>W 5=5D7VW =4 ?5D5>4GG64==O 6>4< F<E.>�F*7>4 394,82 
77 ?<F><V 6<FD4F< 5?5>FD<G=>W 5=5D7VW =4 ?5D5>4G>G 1 <-

3 EFVG=<E 6>4 (DO4>> 76/DO4>> 
73E100) 

>�F*7>4/<-

3 0,17 

78 �<FD4F< =4 5?5>FD<G=G 5=5D7VN 74 DV> F<E.7D= 10466,70 
79 �<F><V 6<FD4F< 5?5>FD>5=5D7VW =4 1<-

3 EFVG=<E 6>4 (DO4>> 73/DO4>> 35) >�F*7>4/<-

3 0,66 
80 �<FD4F< 7 >?5D4FV==>W 4VO?L=>EFV 6>4>6V46545==O 74 DV> F<E.7D= 58128,80 
81 �>E??G4F4FV==V 6<FD4F< =4 >4<=<FN ?D>4G>FVW (DO4>> 80/DO4>> 48) 7D=./<-

3 23,04 
82 �<FD4F< =4 >??4FG ?D4FV 74 DV> F<E.7D= 21886,80 
83 %?V66V4=>L5==O 6<FD4F =4 >??4FG ?D4FV (DO4>> 82/DO4>> 80E100) % 37,65 
84 %?V66V4=>L5==O 6<FD4F =4 5?5>FD<G=G 5=5D7VN (DO4>> 78/DO4>> 80E100) % 18,01 
85 �<>DF<74FV==V 6V4D4EG64==O 74 DV> F<E.7D= 5557,00 
86 �<>>D<EF4=> >>LFV6 74 D4EG=>> 4<>DF<74FV==<E 6V4D4EG64=L 74 DV> F<E.7D= 1597,71 
87 %?V66V4=>L5==O 4<>DF<74FV==<E 6V4D4EG64=L (DO4>> 85/DO4>> 80E100) % 9,56 

 
�D<<VF><: 
 
�V?L>VEFL 5474F>?>65DE>6<E 5G4<=>V6                                             237 >4. 
�V?L>VEFL >64DF<D G 5474F>?>65DE>6<E 5G4<=>4E (45>=5=F<)       21323 >4. 
�V?L>VEFL 5G4V65?L V=4<6V4G4?L=>W 745G4>6< (45>=5=F<)                483 >4. 
�V?L>VEFL 5474F>?>65DE>6<E 5G4<=>V6 7 ?D<?444<< >5?V>G           198 >4. 
(7474?L=>5G4<=>>6V) 
�V?L>VEFL >64DF<D G 5474F>?>65DE>6<E 5G4<=>4E 7 ?D<?444<<     19006 >4. 
>5?V>G (45>=5=F<) 
�V?L>VEFL 5G4V65?L V=4<6V4G4?L=>W 745G4>6< 7 ?D<?444<<              419 >4. 
>5?V>G (45>=5=F<) 
*1 �4764 =4E5?5=<E ?G=>FV6, O><< =444NFLEO ?>E?G7<: 
�4764 =4E5?5=>7> ?G=>FG                             �4E5?5==O (>EV5) 
1 �>DVL=V �?46=V                                          51832 G>? 
 
  

 
_______�<D5>F>D _______ 
(?>E44>64 >E>54 ?VF5=7V4F4) 

 
________  
(?V4?<E) 

 
%5D7V= /D>L  

(?DV76<M5, V<9O, ?> 54FL>>6V) 
            �.�. 

�4G4?L=<> ??4=>6>-5>>=><VG=>7> 6V44V?G ________  
(?V4?<E) 

�V4=4 '>D=>6>?5=>> 
(?DV76<M5, V<9O, ?> 54FL>>6V) 

�=65=5D  
(?>E444 6V4?>6V44?L=>7> 6<>>=46FO) 

________  
(?V4?<E) 

�4D<=4 �DF5<5=>>  
(?DV76<M5, V<9O, ?> 54FL>>6V) 
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�?<E 74E>4V6 �=65EF<FV==>W ?D>7D4<< =4 ??4=>6<= F4 ?D>7=>7>64=<= 
?5DV>4< 

 
1.������%&�'���/ 

 
�G4V6=<FF6>, D5>>=EFDG>FVO F4 <>45D=V74FVO >5'T>FV6 6>4>?>EF4G4==O, 7 

GD4EG64==O<: 
 

1.1. �4E>4< 7V 7=<65==O ?<F><<E 6<FD4F, 4 F4>>6 6FD4F D5EGDEV6, 7 =<E:  
   
1.1.1. �4<V=4 6=GFDVL=L>>64DF4?L=>W <5D56V 6V4 �� 363 4> �� 383 6 D4=>=V 

6<F?>6>7> 5G4<=>G 7 36 ?> 6G?<FV �>=EF<FGFVW 6 <VEFV �>DVL=V �?46=V 
�>?F46EL>>W >5?4EFV. 

 
1) &5E=V>> 3 5>>=><VG=5 >5�DG=FG64==O =5>5EV4=>EFV F4 4>FV?L=>EFV 

74<V=< 7>6=VL=L>W 6>4>?D>6V4=>W <5D56V. 

�>4>?D>6V4=4 6=GFDVL=L>>64DF4?L=4 <5D564 6V4 �� 363 4> �� 383 6 
D4=>=V 6<F?>6>7> 5G4<=>G 7 36 ?> 6G?<FV �>=EF<FGFVW O6?OT E>5>N 230 < 
EF4?56<E FDG5>?D>6>4V6 4V4<5FD>< 150 <<, ?>5G4>64=4 G 90 -E D>>4E <<=G?>7> 
EF>?VFFO V 6V4?D4FN64?4 E6V= F5D<V=. 

�4 ?5DV>4 7 2020 D>>G ?> 2023 DV> =4 <5D56V 6<=<>?> 7 ?>D<6V6, M> 
?D<765?> 4> =5>5�DG=F>64=<E 6FD4F 6>4<. 

�5F4 74E>4G: 7=<65==O 6FD4F F4 =5 >5?V>>64=<E 6<FD4F 6>4< 6 
6>4>?D>6V4=V= <5D56V =4 4V?O=FV 6V4 �� 363 4> �� 383 6 D4=>=V 6<F?>6>7> 
5G4<=>G 7 36 ?> 6G?<FV �>=EF<FGFVW. 

'EF4=>6?5=4 6<D>5=<G4 ?>FG6=VEFL 6>4>?D>6>4G 3 1771,2 <3/4>5G. 
 
2) �5�DG=FG64==O 64DF>EFV 74??4=>64=>7> 74E>4G 5G?> 6<7=4G5=> 

6V4?>6V4=> 4> D>7D4EG=>G 7474?L=>W >>LF>D<E=>W 64DF>EFV F4 6V4><>EFV 

D5EGDEV6 F4 ?>44=> =4 33-35 EF>DV=>4E.  

�4<V=4 44=>W 6>4>?D>6V4=>W <5D56V ??4=GTFLEO 6V4>D<F<< <5F>4><, =4 
FDG5>?D>6V4 �� Ø110. 

 
3) �5�DG=FG64==O 5D5>F<6=>EFV V=65EF<FV= 3 7=<65==O 6FD4F F4 =5 

>5?V>>64=<E 6<FD4F 6>4<, 74557?5G5==O =44V==>EFV E<EF5<< 

6>4>?>EF4G4==O <VEF4 

�<7=4G5==O EFD>>G >>G?=>EFV F4 5>>=><VG=>7> 5D5>FG 6V4 6?D>64465==O 
74E>4G V=65EF<FV==>W ?D>7D4<< V7 74<V=< 6>4>?D>6V4=>W 6=GFDVL=L>>64DF4?L=>W 
<5D56V 6V4 �� 363 4> �� 383 6 D4=>=V 6<F?>6>7> 5G4<=>G 7 36 ?> 6G?<FV 
�>=EF<FGFVW 6 <VEFV �>DVL=V �?46=V �>?F46EL>>W >5?4EFV. %5D54=V= 6V> 
6>4>?D>6V4=>7> FDG5>?D>6>4G, M> ?V4?O74T 74<V=V, EF4=>6<FL 32 D>><, 
>>5DVFVT=F ?V46<M5==O 4>?GEF<<<E 6<F>>V6 n-7> 45EOF<?VF=L>7> EFD>>G 
5>E??G4F4FVW E>?444T 12,5; 4>?GEF<<V 6<F>><, 77V4=> %�V� 3.05.04-85, 
EF4=>6?OFL 4?O EF4?L=<E FDG5 �=150 << 3 0,42 ?/E6.><. 

%G<4D=V 6<F>>< V7 FDG5 7 6V4?>6V4=>7> <4F5DV4?G (EF4?V, G46G=G, 
?>?V5F<?5=G, F>M>) 6<7=4G4NFLEO 74 7474?L=>N D>D<G?>N: 
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, <3/DV> 
 

45: 525,6 3 >>5DVFVT=F 4?O ?5D5D4EG=>G 65?<G<= 6<F>>G 7 ?/E6 G <3/DV>; 
Li 3 7474?L=4 4>66<=4 6>4>6>4V6 V <5D56V 7 FDG5 6V4?>6V4=>7> <4F5DV4?G, 

?D>>?445=<E 74 6V4?>6V4=<= ?5DV>4, ><; 
qi 3 4>?GEF<<<= 6<F>> 7 =>6<E FDG5 6V4?>6V4=>7> 4V4<5FDG F4 <4F5DV4?G, 

?/(E6;><); 
� 3 >>5DVFVT=F ?V46<M5==O 4>?GEF<<<E 6<F>>V6 ?VE?O i-7> EFD>>G 

5>E??G4F4FVW FDG5>?D>6>4V6. �D<=<4TFLEO 4?O 10-20 D>>V6 5>E??G4F4FVW - 2,5; 20-
30 D>>V6 - 6,25; 30-40 D>>V6 - 12,5; 40 D>>V6 V 5V?LL5 - 31,2; 

�1 3 >>5DVFVT=F, O><= 6D4E>6GT 75>?>7VG=V G<>6< (7VD=<GV 6<D>5><, 
6<E>><= DV65=L �DG=F>6<E 6>4, ?V46<M5=V >>D>7V==V 6?4EF<6>EFV �DG=FV6 F>M>). 
�D<=<4TFLEO �1=1,0; 

�ED 3 E5D54=V= F<E> G FDG5>?D>6>44E 7 FDG5 6V4?>6V4=>7> <4F5DV4?G, 
?D>>?445=<E 74 6V4?>6V4=<= ?5DV>4, < 6>4.EF.; 

60 3 F<E>, 4?O O>>7> 6 4>6V4>>6V= ?VF5D4FGDV ?D<6545=V 7=4G5==O 
4>?GEF<<<E 6<F>>V6, < 6>4.EF; 

t 3 G4E, ?D>FO7>< O>>7> 4> E<EF5<< 6>4>?>EF4G4==O ?>44TFLEO 6>44, 7>4. 
(?D<=<4T<>, M> ?>44G4 T FV?>4>5>6>N, F>5F> t=24).  
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�=4E?V4>> D54?V74FVW 44=>7> 74E>4G 5G45 4>EO7=GF> G=<>=5==O 6FD4F 6>4< 

G5D57 ?>L>>465==O 6>4>?D>6V4=>W <5D56V 6 D>7<VDV:  

- 4?O EF4?L=<E FDG5>?D>6>4V6 �=150 <<, 7474?L=>N 4>66<=>N 230 <:  

�� = 3(525,6 × 12,5 × 1 × 0,230 × 0,42 × 24/24 × :25/60)=406,18 <3/DV>; 

�FD4F< 6>4< G5D57 ?>L>>465==O 6>4>?D>6V4=>W <5D56V E>?445: 

406,18 <3/DV>., M> EF4=>6<FL 0,01% 6V4 ?>44=>W G <VEF> ?<F=>W 6>4<.  

406,18 <3/DV> E 21,57 7D= = 8761,30 7D=. (64DFVEFL 1 <3 ?<F=>W 6>4< =4 

30.03.2023 D>>G 3 21,57 7D= 557 ���). 

�<F><V 6<FD4F< 5?5>FD>5=5D7VW 4?O 6>4>?>EF4G4==O 74 2022 DV> E>?4?4 0,36 

>�F/<3 ?>44=>W 6>4< 6 <5D56G, F> 6FD4F< 5?5>FD>5=5D7VW E>?44GFL:  

406,18 <3/DV> E 0,36 >�F/<3 = 146,22 >�F/DV>  

�4DFVEFL 74FD4G5=>W 5?5>FD>5=5D7VW, 6D4E>6GNG< 64DFVEFL 1 >�F/7>4, O>4 

EF4=>< =4 30.06.2023 D. D47>< 7 D>7?>4V?>< EF4=>6<FL 5,52 7D=., 557 ���, 

E>?444T:  

146,22 >�F/DV> E 5,52  = 807,16 7D=.  

�D>FO7>< 2020 - 2023 D>>G =4 <5D56V, M> ?V4?O74T 74<V=V, 6<=<>?> 7 

?>D<6V6. � E5D54=L><G =4 ?V>6V44FVN 1 ?>D<64 6<FD4G4TFLEO 6798,15 7D=. 

�4 ?V>6V44FVN 7 ?>D<6V6 5G?> 6<FD4G5=> <4F5DV4?L=>-F5E=VG=<E D5EGDEV6 

=4 EG<G 47587,05 7D=. -> EF4=>6<FL 15862,35 7D=/DV>. 

�D< 6<=<>=<==V ?>D<6V6 =4 <5D56V, M> ?V4?O74T 74<V=V, 557 ?<F=>N 6>4< 

74?<L4TFLEO 6<F?>6V 5G4<=>< ?> �5D>W6 �=V?D4, 71; �>=EF<FGFVW, 36; 

�>=EF<FGFVW, 40; �>=EF<FGFVW, 42.  

� E5D54=L><G, =4 ?V>6V44FVN 464DV==>W E<FG4FVW 6<FD4G4TFLEO 4 7>4<=<. 

�EL>7> =4 7 ?>D<6< 5G?> 74FD4G5=> 28 7>4<=.  

�4 12 <VEOFV6 2022 D>>G 6>4>E?>6<64==O 6<F?>6<<< 5G4<=>4<< ?> �5D>W6 

�=V?D4, 71; �>=EF<FGFVW, 36; �>=EF<FGFVW, 40; �>=EF<FGFVW, 42 E>?4?> 3 31827 <3, 

74 7>4<=G 3 31827/8760 = 3,63 <3. 

�54>D54?V74FVO 6>4< ?D< GEG=5==V 464DV==<E E<FG4FV= E>?4?4 3 3,63*28= 

101,64 <3 ?D>FO7>< 2020-2023 DD. 45> 33,88 <3 =4 DV> 

�4DFVEFL =54>D54?V7>64=>W 6>4< E>?444T 33,88*21,57= 730,99 7D=./DV>  

�4 ?D><<64==O 6>4>?D>6V4=<E <5D56 ?VE?O ?V>6V44FVW 464DV==<E E<FG4FV= 

6 E5D54=L><G 5G?> 6<FD4G5=> =4 DV> ?<F=>W 6>4< 130,09 <3:  

- 4?O EF4?L=<E FDG5>?D>6>4V6 �=150 << ?D< E5D54=V= L6<4>>EFV 1,75 

</E5> F4 F5D<V=G ?D><<6>< 3 30 E6<?<= (1800 E5>), 7 ?>D<6<:  

(0,0177) E 1,75 E 12600 = 390,28 <3 45> 130,09 <3/DV>, M> EF4=>6<FL 0,003% 

6V4 ?>44=>W G <VEF> ?<F=>W 6>4<.  

�4DFVEFL 6>4< =4 ?D><<6>G <5D56 74 DV> E>?444T: 130,09 <3*21,57 7D=/<3 

=2806,04 7D=.  
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�474?L=4 64DFVEFL 6<FD4F E>?444T: 

(8761,30 +807,16 +15862,35 +730,99 +2806,04) = 28967,84 7D=. = 

28,97 F<E.7D=.,   

�4DFVEFL 74E>4G E>?444T 3 314,76 F<E. 7D=., 557 ��� 

&5D<V= >>G?=>EFV D54?V74FVW 44=>7> 74E>4G:  

314,76 F<E. 7D=./28,97 F<E.7D=. = 10,86 D>>V6 45> j 130 <VEOFV6 

�D
VF
V=
A<
= 
E4
=F

 �
BD
VL
AL
BC
?4
6A
V6
EL
>B
W @
VEL
>B
W D
44
< 
�B
?F
46
EL
>B
W B
5?
4E
FV



3
3

 

 

 

�D
VF
V=
A<
= 
E4
=F

 �
BD
VL
AL
BC
?4
6A
V6
EL
>B
W @
VEL
>B
W D
44
< 
�B
?F
46
EL
>B
W B
5?
4E
FV



3
4

 

 �D
VF
V=
A<
= 
E4
=F

 �
BD
VL
AL
BC
?4
6A
V6
EL
>B
W @
VEL
>B
W D
44
< 
�B
?F
46
EL
>B
W B
5?
4E
FV



3
5

 

 

&
�

&
'

�
 

>5
'T

>
F4

 5
G4

V6
=

<
F

F6
4 

G 
20

24
 D

>F
V 

 �
�

�
�

�
�

�
�

�
 

 �
>?

>6
=<

= 
V=

6
5=

5D
   

   
  _

__
__

__
__

__
_ 

  �
.�

4D
4E

>F
L>

<=
 

   
   

   
   

(?
>E

44
4)

   
   

   
   

   
   

 (
?V

4?
<E

) 
   

(V
=V

FV
4?

< 
F4

 ?
DV

76
<M

5)
 

 "_
__

" 
__

__
__

__
__

__
 2

0_
_ 

D.
 

   
   

   
   

  �
�

&
�

�
$

�
�

�
�

�
 

    
   

   
   

�
<D

5>
F>

D 
�

�
 �

'
�

�
�

   
 _

__
__

__
__

__
_ 

   
   

   
  %

. /
D>

L
 

   
   

   
   

   
   

  (
?>

E4
44

) 
   

   
   

   
   

   
   

(?
V4

?<
E)

   
   

   
   

(V
=V

FV
4?

< 
F4

 ?
DV

76
<M

5)
 

 "_
__

" 
__

__
__

__
__

__
 2

0_
_ 

D.
 

 �
4=

<
5=

G6
4=

=O
 >

5'
T>

F4
 F

4 
=>

7>
 <

VE
F5

7=
4E

>4
6

5=
=O

 
�4

<
V=

4 
6>

4>
?D

>6
V4

=>
W 6

=G
FD

VL
=L

>>
64

DF
4?

L=
>W

 <
5D

56
V 6

V4
 �

�
 

36
3 

4>
 �

�
 3

83
 6

 D
4=

>=
V 6

<F
?>

6>
7>

 5
G4

<=
>G

 7
 3

6 
?>

 6
G?

<F
V 

�
>=

EF
<F

GF
VW

 6
 <

VE
FV

 �
>D

VL
=V

 �
?4

6=
V �

>?
F4

6E
L>

>W
 >

5?
4E

FV
 

'
4E

F>
4 

45
D6

46
=>

W 6
?4

E=
>E

FV
 G

 <
4=

=V
 7

4<
>6

=<
>4

 =
4 

01
.0

1.
20

23
 D

., 
6V

4E
>F

>V
6 

- 
0 

�
4=

<
5=

G6
4=

=O
 7

4<
>6

=<
>4

 �
><

G=
4?

L=
5 

?
V4

?
D

<
T<

EF
6

> 
«�

<
D

>5
=

<
G

5 
G?

D
46

?
V=

=
O

 6
>4

>?
D

>6
V4

=
>-

>
4=

4?
V7

4F
V=

=
>7

> 
7>

E?
>4

4D
EF

6
4»

 �
>D

VL
=

L>
?

?
46

=
V6

EL
>

>W
 <

VE
L>

>W
 D

44
<

 
�

D
5<

5=
G

GF
L>

>7
> 

D
4=

>=
G 

�
>?

F4
6

EL
>

>W
 >

5?
4E

FV
»  

�
4O

6=
VE

FL
 D

>5
>G

>W
 4

>>
G<

5=
F4

FV
W _

__
__

__
__

_.
 �

47
4?

L=
4 

>
>L

F>
D

<
E=

4 
64

D
FV

EF
L 

31
4,

76
 

F<
E.

7D
=

. (
55

7 
�

�
�

) 

�
4?

G7
L 

�
><

G=
4?

L=
4 

�
<<

, >
>?

< 
74

F6
5D

46
5=

> 
?D

>5
>F

=G
 4

>>
G<

5=
F4

FV
N

 _
__

__
__

__
__

__
 

%
D

5D
4 

G?
D4

6?
V=

=O
 �

5?
4D

F4
<

5=
F 

6
<

F?
>6

>-
>

><
G=

4?
L=

>7
> 

7>
E?

>4
4D

EF
6

4 
�

>D
VL

=
L>

?
?

46
=

V6
EL

>
>W

 <
VE

L>
>W

 D
44

<
 

�
D

5<
5=

G
GF

L>
>7

> 
D

4=
>=

G 
�

>?
F4

6
EL

>
>W

 >
5?

4E
FV

 

�
5=

5D
4?

L=
4 

?D
>5

>F
=4

 >
D7

4=
V7

4F
VO

 _
__

__
__

__
__

__
__

__
__

__
 

%
4D

4>
F5

D 
5G

4V
6=

<F
F6

4 
F5

E=
VG

=
5 

?
5D

5>
E=

4M
5=

=
O

 
%

FD
>>

< 
5G

4V
6=

<F
F6

4 
20

24
 D

V>
 

�
5=

5D
4?

L=
4 

?V
4D

O4
=4

 >
D7

4=
V7

4F
VO

 _
__

__
__

__
__

__
__

__
__

__
_ 

�
6

5D
5?

4 
D

V=
4=

EG
64

==
O 

6
?

4E
=

V >
>L

F<
 ?

V4
?

D
<

T<
EF

6
4 

 
�

>>
47

=<
><

 >
5'

T>
F4

 
�7

V4
=>

 7
 

?D
>5

>F
=>

N
 

4>
>G

<
5=

F4
FV

TN
 

�
<>

>=
4=

> 
=4

 1
 E

VG
=O

 
20

24
 D

. 

�
D>

D
V=

4=
E>

6
4=

> 
=4

 1
 

EV
G=

O 
20

24
 D

.  

�
V4

?O
74

T 
D

V=
4=

EG
64

==
N

 4
> 

>V
=F

O 
5G

4V
6=

<F
F6

4 

�4
64

4=
=O

 7
4 

D>
>4

<
< 

�
65

45
==

O 
6 

4V
N

 
(>

64
DF

4?
) 

20
24

 
20

25
 

20
26

 
20

24
 

�
 

1 
2 

3 
4 

5 
6 

7 
8 

�D
VF
V=
A<
= 
E4
=F

 �
BD
VL
AL
BC
?4
6A
V6
EL
>B
W @
VEL
>B
W D
44
< 
�B
?F
46
EL
>B
W B
5?
4E
FV



3
6

 

 �
>F

G6
=V

EF
L 

(G
 6

V4
?>

6V
4=

<E
 >

4<
=<

FO
E 

6<
<

VD
G)

 
 

 
 

 
 

 
 

 
�

4D
FV

EF
L 

>E
=>

6=
<E

 D
>=

4V
6,

 F
<E

. 7
D<

65
=L

 
 

 
 

 
 

 
 

 
�

4?
VF

4?
L=

V 6
>?

44
5=

=O
, F

<E
. 7

D<
65

=L
 

 
 

 
 

 
 

 
 

�4
74

?L
=4

 >
>L

F>
D<

E=
4 

64
DF

VE
FL

, F
<E

. 7
D<

65
=L

, 
 

 
 

31
4,

76
 

31
4,

76
 

 
 

��
� 

G 
F>

<
G 

G<
E?

V:
 

 
 

 
 

 
 

 
 

5G
4V

65
?L

=<
E 

D>
5V

F 
 

 
 

 
 

 
 

 
GE

F4
F>

G6
4=

=O
, <

55
?V

6 
F4

 V=
65

=F
4D

N
 

 
 

 
 

 
 

 
 

V=
L

V 6
<F

D4
F<

 
 

 
 

 
 

 
 

 
�7

 7
47

4?
L=

>7
> 

>5
EO

7G
 >

4?
VF

4?
L=

<E
 6

>?
44

5=
L 

74
 

D4
EG

=>
>,

 F
<E

. 7
D<

65
=L

: 
 

 
 

 
 

 
 

 

45
D6

46
=>

7>
 5

N
46

5F
G 

 
 

 
 

 
 

 
 

<
VE

F5
6>

7>
 5

N
46

5F
G 

 
 

 
 

 
 

 
 

V=
L

<E
 4

6
5D

5?
 

 
 

 
31

4,
76

 
31

4,
76

 
 

 
��

� 
 "_

__
" 

__
__

__
__

__
__

 2
0_

_ 
D.

 
�

.>
.=

4G
4?

L=
<>

4 
6<

D>
5=

<G
>-

F5
E=

VG
=>

7>
 6

V4
4V

?G
 

   
   

   
   

   
   

   
   

   
   

   
   

   
(?

>E
44

4)
 

__
__

__
__

__
__

 
(?

V4
?<

E)
 

�
. �

=4
DG

M
5=

>>
 

(V
=V

FV
4?

< 
F4

 ?
DV

76
<M

5)
 

 
    

�D
VF
V=
A<
= 
E4
=F

 �
BD
VL
AL
BC
?4
6A
V6
EL
>B
W @
VEL
>B
W D
44
< 
�B
?F
46
EL
>B
W B
5?
4E
FV



37 

 

1.1.2. �4<V=4 6=GFDVL=L>>64DF4?L=>W <5D56V 6V4 �� 312 4> �� 315; 6V4 �� 
315 4> ��, 7 6;  6V4 ��, 7 6 4> �� 315�; 6V4 �� 315� 4> �<FOG>7> 
E44>G>4 «�>?>F4 D<5>4» 6 <VEFV �>DVL=V �?46=V �>?F46EL>>W >5?4EFV. 

 
1) &5E=V>> 3 5>>=><VG=5 >5�DG=FG64==O =5>5EV4=>EFV F4 4>FV?L=>EFV 

74<V=< 7>6=VL=L>W 6>4>?D>6V4=>W <5D56V. 

�>4>?D>6V4=4 6=GFDVL=L>>64DF4?L=4 <5D564 6V4 �� 312 4> �� 315; 6V4 
�� 315 4> ��, 7 6;  6V4 ��, 7 6 4> �� 315�; 6V4 �� 315� 4> �<FOG>7> 
E44>G>4 «�>?>F4 D<5>4» O6?OT E>5>N 280 < G46G==<E FDG5>?D>6>4V6 4V4<5FD>< 
150 <<, ?>5G4>64=4 G 80 -E D>>4E <<=G?>7> EF>?VFFO V 6V4?D4FN64?4 E6V= F5D<V=. 

�4 ?5DV>4 7 2020 D>>G ?> 2023 DV> =4 <5D56V 6<=<>?> 5 ?>D<6V6, M> 
?D<765?> 4> =5>5�DG=F>64=<E 6FD4F 6>4<. 

�5F4 74E>4G: 7=<65==O 6FD4F F4 =5 >5?V>>64=<E 6<FD4F 6>4< G 
6>4>?D>6V4=V= <5D56V =4 4V?O=FV 6V4 �� 312 4> �� 315; 6V4 �� 315 4> ��, 7 
6;  6V4 ��, 7 6 4> �� 315�; 6V4 �� 315� 4> �<FOG>7> E44>G>4 «�>?>F4 D<5>4». 

'EF4=>6?5=4 6<D>5=<G4 ?>FG6=VEFL 6>4>?D>6>4G 3 1771,2 <3/4>5G. 
 
2) �5�DG=FG64==O 64DF>EFV 74??4=>64=>7> 74E>4G 5G?> 6<7=4G5=> 

6V4?>6V4=> 4> D>7D4EG=>G 7474?L=>W >>LF>D<E=>W 64DF>EFV F4 6V4><>EFV 

D5EGDEV6 F4 ?>44=> =4 41-42 EF>DV=>4E.  

�4<V=4 44=>W 6>4>?D>6V4=>W <5D56V ??4=GTFLEO 6V4>D<F<< <5F>4><, =4 
FDG5>?D>6V4 �� Ø110. 

 
3) �5�DG=FG64==O 5D5>F<6=>EFV V=65EF<FV= 3 7=<65==O 6FD4F F4 =5 

>5?V>>64=<E 6<FD4F 6>4<, 74557?5G5==O =44V==>EFV E<EF5<< 

6>4>?>EF4G4==O <VEF4 

�<7=4G5==O EFD>>G >>G?=>EFV F4 5>>=><VG=>7> 5D5>FG 6V4 6?D>64465==O 
74E>4G V=65EF<FV==>W ?D>7D4<< V7 �4<V=< 6>4>?D>6V4=>W 6=GFDVL=L>>64DF4?L=>W 
<5D56V 6V4 �� 312 4> �� 315; 6V4 �� 315 4> ��, 7 6;  6V4 ��, 7 6 4> �� 
315�; 6V4 �� 315� 4> �<FOG>7> E44>G>4 «�>?>F4 D<5>4». %5D54=V= 6V> 
6>4>?D>6V4=>7> FDG5>?D>6>4G, M> ?V4?O74T 74<V=V, EF4=>6<FL 40 D>>V6, 
>>5DVFVT=F ?V46<M5==O 4>?GEF<<<E 6<F>>V6 V-7> 45EOF<?VF=L>7> EFD>>G 
5>E??G4F4FVW E>?444T 31,2; 4>?GEF<<V 6<F>><, 77V4=> %�V� 3.05.04-85, 
EF4=>6?OFL 4?O G46G==<E FDG5 �=150 << 3 1,05 ?/E6.><. 

%G<4D=V 6<F>>< V7 FDG5 7 6V4?>6V4=>7> <4F5DV4?G (EF4?V, G46G=G, 
?>?V5F<?5=G, F>M>) 6<7=4G4NFLEO 74 7474?L=>N D>D<G?>N: 

 

, <3/DV> 
 

45: 525,6 3 >>5DVFVT=F 4?O ?5D5D4EG=>G 65?<G<= 6<F>>G 7 ?/E6 G <3/DV>; 
Li 3 7474?L=4 4>66<=4 6>4>6>4V6 V <5D56V 7 FDG5 6V4?>6V4=>7> <4F5DV4?G, 

?D>>?445=<E 74 6V4?>6V4=<= ?5DV>4, ><; 
qi 3 4>?GEF<<<= 6<F>> 7 =>6<E FDG5 6V4?>6V4=>7> 4V4<5FDG F4 <4F5DV4?G, 

?/(E6;><); 
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� 3 >>5DVFVT=F ?V46<M5==O 4>?GEF<<<E 6<F>>V6 ?VE?O i-7> EFD>>G 
5>E??G4F4FVW FDG5>?D>6>4V6. �D<=<4TFLEO 4?O 10-20 D>>V6 5>E??G4F4FVW - 2,5; 20-
30 D>>V6 - 6,25; 30-40 D>>V6 - 12,5; 40 D>>V6 V 5V?LL5 - 31,2; 

�1 3 >>5DVFVT=F, O><= 6D4E>6GT 75>?>7VG=V G<>6< (7VD=<GV 6<D>5><, 
6<E>><= DV65=L �DG=F>6<E 6>4, ?V46<M5=V >>D>7V==V 6?4EF<6>EFV �DG=FV6 F>M>). 
�D<=<4TFLEO �1=1,0; 

�ED 3 E5D54=V= F<E> G FDG5>?D>6>44E 7 FDG5 6V4?>6V4=>7> <4F5DV4?G, 
?D>>?445=<E 74 6V4?>6V4=<= ?5DV>4, < 6>4.EF.; 

60 3 F<E>, 4?O O>>7> 6 4>6V4>>6V= ?VF5D4FGDV ?D<6545=V 7=4G5==O 
4>?GEF<<<E 6<F>>V6, < 6>4.EF; 

t 3 G4E, ?D>FO7>< O>>7> 4> E<EF5<< �$� ?>44TFLEO 6>44, 7>4. (?D<=<4T<>, 
M> ?>44G4 T FV?>4>5>6>N, F>5F> t=24).  
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�=4E?V4>> D54?V74FVW 44=>7> 74E>4G 5G45 4>EO7=GF> G=<>=5==O 6FD4F 6>4< 

G5D57 ?>L>>465==O 6>4>?D>6V4=>W <5D56V 6 D>7<VDV:  

- 4?O G46G==<E FDG5>?D>6>4V6 �=150 <<, 7474?L=>N 4>66<=>N 280 <:  

�� = 3(525,6 × 31,2 × 1 × 0,280 × 1,05 × 24/24 × :30/60)=3374,86 <3/DV>; 

�FD4F< 6>4< G5D57 ?>L>>465==O 6>4>?D>6V4=>W <5D56V E>?445: 

3374,86 <3/DV>., M> EF4=>6<FL 0,09% 6V4 ?>44=>W G <VEF> ?<F=>W 6>4<.  

3374,86 <3/DV> E 21,57 7D= = 72795,73 7D=. (64DFVEFL 1 <3 ?<F=>W 6>4< =4 

30.03.2023 D>>G 3 21,57 7D= 557 ���). 

$4>F<G=5 E?>6<64==O 5?5>FD>5=5D7VW 4?O 6>4>?>EF4G4==O =4 1 <3 74 2022 

DV> E>?4?4 0,36 >�F/<3 ?>44=>W 6>4< 6 <5D56G, F> 6FD4F< 5?5>FD>5=5D7VW 

E>?44GFL:  

3374,86 <3/DV> E 0,36 >�F/<3 = 1214,95 >�F/DV>  

�4DFVEFL 74FD4G5=>W 5?5>FD>5=5D7VW, 6D4E>6GNG< 64DFVEFL 1 >�F/7>4, O>4 

EF4=>< =4 30.06.2023 D. D47>< 7 D>7?>4V?>< EF4=>6<FL 5,52 7D=., 557 ���, 

E>?444T:  

1214,95 >�F/DV> E 5,52  = 6706,52 7D=.  

�D>FO7>< 2020 - 2023 D>>G =4 <5D56V, M> ?V4?O74T 74<V=V, 6<=<>?> 5 

?>D<6V6. � E5D54=L><G =4 ?V>6V44FVN 1 ?>D<64 6<FD4G4TFLEO 6798,15 7D=. 

�4 ?V>6V44FVN 5 ?>D<6V6 5G?> 6<FD4G5=> <4F5DV4?L=>-F5E=VG=<E D5EGDEV6 

=4 EG<G 33990,75 7D=. -> EF4=>6<FL 11330,25 7D=/DV>. 

�D< 6<=<>=<==V ?>D<6V6 =4 <5D56V, M> ?V4?O74T 74<V=V, 557 ?<F=>N 6>4< 

74?<L4TFLEO 6<F?>6<= 5G4<=>> ?> 6G?. �>5D>6>?LEL>>7>, 67, L>>?4 6 F4 

4<FOG<= E44>> «�>?>F4 D<5>4».  

� E5D54=L><G, =4 ?V>6V44FVN 464DV==>W E<FG4FVW 6<FD4G4TFLEO 4 7>4<=<. 

�EL>7> =4 5 ?>D<6V6 5G?> 74FD4G5=> 20 7>4<=.  

�4 2022 DV> 6>4>E?>6<64==O 6<F?>6>7> 5G4<=>G ?> ?> 6G?. 

�>5D>6>?LEL>>7>, 67, L>>?4 6 F4 4<FOG<= E44>> «�>?>F4 D<5>4» E>?4?> 3 6829 

<3, 74 7>4<=G 3 6829/8760 = 0,78 <3. 

�54>D54?V74FVO 6>4< ?D< GEG=5==V 464DV==<E E<FG4FV= E>?4?4 3 0,78*20 = 

15,60 <3 45> 5,2 <3/DV> 

�4DFVEFL =54>D54?V7>64=>W 6>4< E>?444T 5,2*21,57= 112,16 7D=.  

�4 ?D><<64==O 6>4>?D>6V4=<E <5D56 ?VE?O ?V>6V44FVW 464DV==<E E<FG4FV= 

6 E5D54=L><G 5G?> 6<FD4G5=> ?<F=>W 6>4< 92,73 <3/DV>:  

- 4?O G46G==<E FDG5>?D>6>4V6 �=150 << ?D< E5D54=V= L6<4>>EFV 1,75 
</E5> F4 F5D<V=G ?D><<6>< 3 30 E6<?<= (1800 E5>), 5 ?>D<6<:  

(0,017) E 1,75 E 9000 = 278,18 <3 45> 92,73 <3/DV>, M> EF4=>6<FL 0,002% 6V4 

?>44=>W G <VEF> ?<F=>W 6>4< 74 DV>.  
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�4DFVEFL 6>4< =4 ?D><<6>G <5D56 74 DV> E>?444T: 92,73 <3*21,57 7D=/<3 

=2000,19 7D=.  

�474?L=4 64DFVEFL 6<FD4F E>?444T: 

(72795,73 +6706,52 +11330,25+112,16 +2000,19) = 92944,85 7D=. = 92,94 

F<E.7D=. 

�4DFVEFL 74E>4G E>?444T 3 273,19 F<E. 7D=., 557 ��� 

&5D<V= >>G?=>EFV D54?V74FVW 44=>7> 74E>4G:  

273,19 F<E. 7D=./92,94 F<E.7D=. = 2,9 D>>V6 45> j 35 <VEOFV6 
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1.1.3. �4<V=4 <47VEFD4?L=>W <5D56V 6V4 �� 210 4> �� 206 6 D4=>=V 6<F?>6>7> 
5G4<=>G ?>   ?D>E?5>FG �5D>W6 �=V?D4, 54 <. �>DVL=V �?46=V �>?F46EL>>W 

>5?4EFV. 
 
1) &5E=V>> 3 5>>=><VG=5 >5�DG=FG64==O =5>5EV4=>EFV F4 4>FV?L=>EFV 

74<V=< 7>6=VL=L>W 6>4>?D>6V4=>W <5D56V. 

�>4>?D>6V4=4 <47VEFD4?L=4 <5D564 6V4 �� 210 4> �� 206 6 D4=>=V 
6<F?>6>7> 5G4<=>G ?>   ?D>E?5>FG �5D>W6 �=V?D4, 54 O6?OT E>5>N 260 < 
G46G==<E FDG5>?D>6>4V6 4V4<5FD>< 500 <<, ?>5G4>64=4 G 1995 D>FV <<=G?>7> 
EF>?VFFO V 6V4?D4FN64?4 E6V= F5D<V=. 

�4 ?5DV>4 7 2020 D>>G ?> 2023 DV> =4 <5D56V 6<=<>?> 14 ?>D<6V6, M> 
?D<765?> 4> =5>5�DG=F>64=<E 6FD4F 6>4<. 

�5F4 74E>4G: 7=<65==O 6FD4F F4 =5 >5?V>>64=<E 6<FD4F 6>4< 6 
6>4>?D>6V4=V= <5D56V =4 4V?O=FV 6V4 6V4 �� 210 4> �� 206 6 D4=>=V 6<F?>6>7> 
5G4<=>G ?>   ?D>E?5>FG �5D>W6 �=V?D4, 54. 'EF4=>6?5=4 6<D>5=<G4 ?>FG6=VEFL 
6>4>?D>6>4G 3 20217,6 <3/4>5G. 

 
2) �5�DG=FG64==O 64DF>EFV 74??4=>64=>7> 74E>4G 5G?> 6<7=4G5=> 

6V4?>6V4=> 4> D>7D4EG=>G 7474?L=>W >>LF>D<E=>W 64DF>EFV F4 6V4><>EFV 

D5EGDEV6 F4 ?>44=> =4 48-49 EF>DV=>4E.  

�4<V=4 44=>W 6>4>?D>6V4=>W <5D56V ??4=GTFLEO <5F>4>< FDG54 6 FDG5G, =4 
FDG5>?D>6V4 �� Ø300. 

 
3) �5�DG=FG64==O 5D5>F<6=>EFV V=65EF<FV= 3 7=<65==O 6FD4F F4 =5 

>5?V>>64=<E 6<FD4F 6>4<, 74557?5G5==O =44V==>EFV E<EF5<< 

6>4>?>EF4G4==O <VEF4 

�<7=4G5==O EFD>>G >>G?=>EFV F4 5>>=><VG=>7> 5D5>FG 6V4 6?D>64465==O 
74E>4G V=65EF<FV==>W ?D>7D4<< V7 74<V=< <47VEFD4?L=>W <5D56V 6V4 �� 210 4> �� 
206 6 D4=>=V 6<F?>6>7> 5G4<=>G ?>   ?D>E?5>FG �5D>W6 �=V?D4, 54 <. �>DVL=V 
�?46=V �>?F46EL>>W >5?4EFV. %5D54=V= 6V> 6>4>?D>6V4=>7> FDG5>?D>6>4G, M> 
?V4?O74T 74<V=V, EF4=>6<FL 28 D>><, >>5DVFVT=F ?V46<M5==O 4>?GEF<<<E 6<F>>V6 
V-7> 45EOF<?VF=L>7> EFD>>G 5>E??G4F4FVW E>?444T 6,25; 4>?GEF<<V 6<F>><, 77V4=> 
%�V� 3.05.04-85, EF4=>6?OFL 4?O G46G==<E FDG5 �=500 << 3 2,2 ?/E6.><. 

%G<4D=V 6<F>>< V7 FDG5 7 6V4?>6V4=>7> <4F5DV4?G (EF4?V, G46G=G, 
?>?V5F<?5=G, F>M>) 6<7=4G4NFLEO 74 7474?L=>N D>D<G?>N: 

 

, <3/DV> 
 

45: 525,6 3 >>5DVFVT=F 4?O ?5D5D4EG=>G 65?<G<= 6<F>>G 7 ?/E6 G <3/DV>; 
Li 3 7474?L=4 4>66<=4 6>4>6>4V6 V <5D56V 7 FDG5 6V4?>6V4=>7> <4F5DV4?G, 

?D>>?445=<E 74 6V4?>6V4=<= ?5DV>4, ><; 
qi 3 4>?GEF<<<= 6<F>> 7 =>6<E FDG5 6V4?>6V4=>7> 4V4<5FDG F4 <4F5DV4?G, 

?/(E6;><); 
� 3 >>5DVFVT=F ?V46<M5==O 4>?GEF<<<E 6<F>>V6 ?VE?O i-7> EFD>>G 

5>E??G4F4FVW FDG5>?D>6>4V6. �D<=<4TFLEO 4?O 10-20 D>>V6 5>E??G4F4FVW - 2,5; 20-
30 D>>V6 - 6,25; 30-40 D>>V6 - 12,5; 40 D>>V6 V 5V?LL5 - 31,2; 
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�1 3 >>5DVFVT=F, O><= 6D4E>6GT 75>?>7VG=V G<>6< (7VD=<GV 6<D>5><, 
6<E>><= DV65=L �DG=F>6<E 6>4, ?V46<M5=V >>D>7V==V 6?4EF<6>EFV �DG=FV6 F>M>). 
�D<=<4TFLEO �1=1,0; 

�ED 3 E5D54=V= F<E> G FDG5>?D>6>44E 7 FDG5 6V4?>6V4=>7> <4F5DV4?G, 
?D>>?445=<E 74 6V4?>6V4=<= ?5DV>4, < 6>4.EF.; 

60 3 F<E>, 4?O O>>7> 6 4>6V4>>6V= ?VF5D4FGDV ?D<6545=V 7=4G5==O 
4>?GEF<<<E 6<F>>V6, < 6>4.EF; 

t 3 G4E, ?D>FO7>< O>>7> 4> E<EF5<< �$� ?>44TFLEO 6>44, 7>4. (?D<=<4T<>, 
M> ?>44G4 T FV?>4>5>6>N, F>5F> t=24).  

 

 
 

�=4E?V4>> D54?V74FVW 44=>7> 74E>4G 5G45 4>EO7=GF> G=<>=5==O 6FD4F 6>4< 

G5D57 ?>L>>465==O 6>4>?D>6V4=>W <5D56V 6 D>7<VDV:  

- 4?O G46G==<E FDG5>?D>6>4V6 �=500 <<, 7474?L=>N 4>66<=>N 260 <:  

�� = 3(525,6 × 6,25 × 1 × 0,26 × 2,2 × 24/24 × :30/60)=1315,31 <3/DV>; 
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�FD4F< 6>4< G5D57 ?>L>>465==O 6>4>?D>6V4=>W <5D56V E>?445: 

1315,31 <3/DV>., M> EF4=>6<FL 0,03% 6V4 ?>44=>W G <VEF> ?<F=>W 6>4<.  

1315,31 <3/DV> E 21,57 7D= = 28371,24 7D=. (64DFVEFL 1 <3 ?<F=>W 6>4< =4 

30.03.2023 D>>G 3 21,57 7D= 557 ���). 

$4>F<G=5 E?>6<64==O 5?5>FD>5=5D7VW 4?O 6>4>?>EF4G4==O 74 2023 DV> 

E>?4?4 0,36 >�F/<3 ?>44=>W 6>4< 6 <5D56G, F> 6FD4F< 5?5>FD>5=5D7VW E>?44GFL:  

1315,31 <3/DV> E 0,36 >�F/<3 = 473,51 >�F/DV>  

�4DFVEFL 74FD4G5=>W 5?5>FD>5=5D7VW, 6D4E>6GNG< 64DFVEFL 1 >�F/7>4, O>4 

EF4=>< =4 30.06.2023 D. D47>< 7 D>7?>4V?>< EF4=>6<FL 5,52 7D=., 557 ���, 

E>?444T:  

473,51 >�F/DV> E 5,52  = 2613,78 7D=.  

�D>FO7>< 2020 - 2023 D>>G =4 <5D56V, M> ?V4?O74T 74<V=V, 6<=<>?> 14 

?>D<6V6. � E5D54=L><G =4 ?V>6V44FVN 1 ?>D<64 6<FD4G4TFLEO 6798,15 7D=. 

�4 ?V>6V44FVN 14 ?>D<6V6 5G?> 6<FD4G5=> <4F5DV4?L=>-F5E=VG=<E D5EGDEV6 

=4 EG<G 95174,1 7D=. -> EF4=>6<FL 31724,70 7D=/DV>. 

�4 ?D><<64==O 6>4>?D>6V4=<E <5D56 ?VE?O ?V>6V44FVW 464DV==<E E<FG4FV= 

6 E5D54=L><G 5G?> 6<FD4G5=> ?<F=>W 6>4< 2884,88 <3/DV>:  

- 4?O G46G==<E FDG5>?D>6>4V6 �=500 << ?D< E5D54=V= L6<4>>EFV 1,75 

</E5> F4 F5D<V=G ?D><<6>< 3 30 E6<?<= (1800 E5>), 14 ?>D<6V6:  

(0,19625) E 1,75 E 25200 = 8654,63 <3 45> 2884,88 <3/DV>, M> EF4=>6<FL 

0,08% 6V4 ?>44=>W G <VEF> ?<F=>W 6>4<.  

�4DFVEFL 6>4< =4 ?D><<6>G <5D56 74 DV> E>?444T: 2884,88 <3*21,57 7D=/<3 

=62226,86 7D=.  

�474?L=4 64DFVEFL 6<FD4F E>?444T: 

(28371,24+2613,78 +31724,70+62226,86) = 124936,58 7D=. = 124,94 F<E.7D=. 

�4DFVEFL 74E>4G E>?444T 3 972,30 F<E. 7D=., 557 ��� 

&5D<V= >>G?=>EFV D54?V74FVW 44=>7> 74E>4G:  

972,30 F<E. 7D=./124,94 F<E.7D=. = 7,78 D>>V6 45> j 93 <VEOFV6 
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1.1.4. &5E=VG=5 ?5D5>E=4M5==O 6G7?V6 D57G?N64==O ?>44GV ?<F=>W 6>4< =4 
D>7?>4V?LG<E <5D564E 6 <VEFV �>DVL=V �?46=V �>?F46EL>>W >5?4EFV 

 
1) &5E=V>>-5>>=><VG=5 >5�DG=FG64==O =5>5EV4=>EFV F4 4>FV?L=>EFV 

F5E=VG=>7> ?5D5>E=4M5==O 6G7?V6 D57G?N64==O ?>44GV ?<F=>W 6>4< =4 

D>7?>4V?LG<E <5D564E 6 <VEFV �>DVL=V �?46=V �>?F46EL>>W >5?4EFV 

�4?VD=4 4D<4FGD4 =4 6>4>7>=4E <VEF4 6V4?D4FN64?4 E6V= D5EGDE V 
7=4E>4<FLEO 6 =5744>6V?L=><G EF4=V. �=>E GMV?L=NNG<E 4<E>V6 F4 >V?5FL 
E?D<G<=OT =44?<L>>6V 6<F>>< 6>4< G5D57 =5MV?L=>EFV 4D<4FGD<.  

�D>?>=GTFLEO ?D>65EF< F5E=VG=5 ?5D5>E=4M5==O 6G7?V6 D57G?N64==O 
?>44GV ?<F=>W 6>4< =4 D>7?>4V?LG<E <5D564E <VEF4 V7 74<V=>N G46G==<E 74EG6>> 
=4 74EG6>< V7 EGG4E=<E <4F5DV4?V6 F4 <>4<DV>4FV= 6 >V?L>>EFV 47 >4.: 

4V4<5FD>< 100 << 3 10 LF;  
4V4<5FD>< 150 << 3 9 LF; 
4V4<5FD>< 200 << 3 6 LF; 
4V4<5FD>< 250 << 3 6 LF. 
4V4<5FD>< 300 << 3 4 LF;  
4V4<5FD>< 400 << 3 7 LF; 
4V4<5FD>< 600 << 3 5 LF. 
�5�DG=FG64==O 5D5>F<6=>EFV V=65EF<FV= 3 7=<65==O 6FD4F F4 =5 

>5?V>>64=<E 6<FD4F 6>4<, 74557?5G5==O =44V==>EFV E<EF5<< 6>4>?>EF4G4==O 
<VEF4. 

�?O 6<7=4G5==O 64DF>EFV 74E>4G =4L><G ?V4?D<T<EF6G =44V=L?> 46V 
>><5DV==V ?D>?>7<FVW 6V4 &�� «���� &�%�������» <. �<W6 F4 &�� 
«&>D7V65?L=<= 4V< «�6D>FDG5??4EF» <. �>?F464. 

�> D>7D4EG=>G 64DF>EFV 74E>4G ?D<==OF> ?D>?>7<FVN &�� «���� 
&�%�������», O> <5=L 64DFVE=G:  

 
7 
?/? 

�4=<5=G64==O 
<4F5DV4?G 

�4. 
6<<VDG 

�V?L>VEFL �4DFVEFL 
>4<=<FV, 
7D=., 557 

��� 

�474?L=4 
64DFVEFL, 
7D=., 557 

��� 

�>EF4G4?L=<> 

1 �4EG6>4 
D?4=F564, DN 

100, PN 10, F4 7V 
LFGD64?>< 

LF. 10 5427,54 54275,40 «���� 
&�%�������» 

2 �4EG6>4 
D?4=F564, DN 

150, PN 10, F4 7V 
LFGD64?>< 

LF. 9 9045,90 81413,10 «���� 
&�%�������» 

3 �4EG6>4 
D?4=F564, DN 

200, PN 10, F4 7V 
LFGD64?>< 

LF. 6 15181,38 91088,28 «���� 
&�%�������» 

4 �4EG6>4 
D?4=F564, DN 

250, PN 10, F4 7V 
LFGD64?>< 

LF. 6 21552,84 129317,04 «���� 
&�%�������» 

5 �4EG6>4 LF. 4 32211,27 128845,08 «���� 
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D?4=F564, DN 
300, PN 10, F4 7V 

LFGD64?>< 

&�%�������» 

6 �4EG6>4 
D?4=F564, DN 

400, PN 10, F4 7V 
LFGD64?>< 

LF. 7 74255,04 519785,28 «���� 
&�%�������» 

7 �4EG6>4 
D?4=F564, DN 

600, PN 10, F4 7V 
LFGD64?>< 

LF. 5 183356,46 916782,30 «���� 
&�%�������» 

$47>< LF. 47  1921506,48  

 

2) �<7=4G5==O EFD>>G >>G?=>EFV F4 5>>=><VG=>7> 5D5>FG 6V4 

6?D>64465==O 74E>4G V=65EF<FV==>W ?D>7D4<< 7 F5E=VG=>7> ?5D5>E=4M5==O 

6G7?V6 D57G?N64==O ?>44GV ?<F=>W 6>4< =4 D>7?>4V?LG<E <5D564E 6 <VEFV 

�>DVL=V �?46=V �>?F46EL>>W >5?4EFV 

�7V4=> <5F>4<>< D>7D4EG=>G 6FD4F ?<F=>W 6>4< ?V4?D<T<EF64<<, O>V 
=444NFL ?>E?G7< 7 F5=FD4?V7>64=>7> 6>4>?>EF4G4==O 6V4?>6V4=> 4> <5F>4<>< 
D>7D4EG=>G F5E=>?>7VG=<E 6FD4F ?<F=>W 6>4< ?V4?D<T<EF64<<, O>V =444NFL 
?>E?G7< 7 F5=FD4?V7>64=>7> 6>4>?>EF4G4==O, 74F65D465=>W =4>47>< 
�V=VEF5DEF64 D57V>=4?L=>7> D>76<F>G, 5G4V6=<FF64 F4 6<F?>6>->><G=4?L=>7> 
7>E?>44DEF64 '>D4W=< 6V4 25 G5D6=O 2014 D>>G 7 180, 6<F>>< 6>4< G5D57 
=5MV?L=>EFV 4D<4FGD< D>7D4E>6GTFLEO 74 D>D<G?>N: 

3
151 ,

365
<

Q

qn
W

?V4

ôôô
ý

ô
 

45:  
· - 4>?O 4D<4FGD<, O>4 <4T ?D>FV>4==O. �D<=<4T<> 0,1; 
n - 7474?L=4 >V?L>VEFL >4<=<FL 4D<4FGD<; 
q - E5D54=V 6FD4F< 6>4< G5D57 GMV?L=5==O <5D5656>W 4D<4FGD<, <3/4>5G. 

�D<=<4T<> =4 DV6=V 4,3 <3/4>5G. 
3

5 71.1
60,4320

3,4471,0365
<W ý

ôôô
ý  

�4DFVEFL =54>D54?V74FVW 6>4< E>?444T 1,78*21,57 = 36,88 7D=. (64DFVEFL 1 <3 
?<F=>W 6>4< =4 30.03.2023 D>>G 3 21,57 7D= 557 ���) 

 
�474?L=4 64DFVEFL 74EG6>> E>?444T 1921,51 F<E.7D=. 557 ���.  
�D4E>6GNG< 6<M56<>?445=5 M>4> >>G?=>EFV D54?V74FVW 44=>7> 74E>4G, T 

?V4EF64 7D>5<F< 6<E=>6>>, M> F5= 74EV4 =5 44T 5>>=><VG=>7> 5D5>FG, 4 T 
74E>4><, M> ?>>D4MGT O>VEFL F4 557?5D5D6=VEFL =444==O ?>E?G7 6>4>?>EF4G4==O 
=4E5?5==N <VEF4. 

 
3) �5�DG=FG64==O 64DF>EFV 74??4=>64=>7> 74E>4G ?> F5E=VG=><G 

?5D5>E=4M5==O 6G7?V6 D57G?N64==O ?>44GV ?<F=>W 6>4< =4 D>7?>4V?LG<E 

<5D564E 6 <VEFV �>DVL=V �?46=V �>?F46EL>>W >5?4EFV ?>44=> =4 54-55 

EF>DV=>4E. 
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1.1.5. �EF4=>6?5==O L4D >5DG64==O 7 <>6?<6VEFN 6V444?5=>7> >5DG64==O 
��%  <. �>DVL=V �?46=V �>?F46EL>>W >5?4EFV 

 
1) &5E=V>> 3 5>>=><VG=5 >5�DG=FG64==O =5>5EV4=>EFV F4 

4>FV?L=>EFV 6?D>64465==O 74E>4G «�EF4=>6?5==O L4D >5DG64==O 7 

<>6?<6VEFN 6V444?5=>7> >5DG64==O ��%  <. �>DVL=V �?46=V �>?F46EL>>W 

>5?4EFV».  

�?O 74557?5G5==O ?<F=>N 6>4>N 5474F>?>65DE>6<E 5G4<=>V6 
6<>>D<EF>6GNFLEO ?V46<MG64?L=V =4E>E=V EF4=FVW. �4 54?4=EV ?V4?D<T<EF64 
7=4E>4<FLEO 13 ?V46<MG64?L=<E =4E>E=<E EF4=FV= (��% =4 &&� 10 
<V>D>D4=>=G; ��% =4 &&� 12 <V>D>D4=>=G; ��% =4 &&� 15 <V>D>D4=>=G; ��% 
?> 6G?<FV �>5D>6>?LEL>>7>, 28; ��% ?> 6G?<FV �5D>W6 �=V?D4, 36; ��% ?> 
6G?<FV �5D>W6 �=V?D4, 41; ��% ?> 6G?<FV �<DG, 31; ��% ?> 6G?<FV �5D>W6 
�=V?D4, 23; ��% ?> 6G?<FV �5D>W6 �=V?D4, 24; ��% ?> 6G?<FV �>=EF<FGFVW 18; 
��% ?> 6G?<FV �5D>W6 �=V?D4, 17/10; ��% ?> 6G?<FV �5D>W6 �=V?D4, 10/13; ��% 
?> 6G?<FV �>DF>6V=, 1,3). 

�E=>6=<< F5E=>?>7VG=<< >5?44=4==O< ��% T =4E>E< 7 5?5>FD>?D<6>4><. 
�4E>E=V 47D574F< ?>6<==V ?D4FN64F< 6 =>D<4?L=><G D56<<V - F5 D56<<, ?D< 
O>><G =4E>E=V 47D574F< ?D4FNNFL 7 ���, 5?<7L><< 4> <4>E<<4?L=>7> 7=4G5==O, 
4 6FD4F< 5?5>FD>5=5D7VW, 6>4<, F<E>G - <V=V<4?L=V. 

$>77?O4 44=<E, M> 6V4>5D464NFL D>5>FG >5?44=4==O 6 G<>64E 7<V==<E 
65?<G<= (?>44GV, =4?>DG, F<E>G), ?>>47GT, M> =<>6VD=VEFL ?>O6< ?V>>6>7> 
=464=F465==O 4G65 <4?4. �=4E?V4>> FL>7> 5V?LLG G4EF<=G G4EG =4E>E=V 
47D574F< ?D4FNNFL ?D< E5D54=VE, 4 G4EFVL5 =<7L><E 7=4G5==OE ��� V 7 VEF>F=<< 
?5D56<FD4F>N 5?5>FD>5=5D7VW. 

�>OE=NTFLEO F5 F<<, M>, 6<FD4F< E?>6<64=>W 6>4< 7<V=NNFLEO V 46<7G=< 
?D4FNNFL ?D< <4>E<<4?L=><G =464=F465==V >>D>F>>G4E=>. &4><< G<=><, 
VE=GNG5 >5?44=4==O ��% <VEF4 ?>FD55GT >?F<<V74FVW =>7> D>5>F<.  

� <5F>N 7=<65==O 6<FD4F =4 5?5>FD>5=5D7VN, ?V4FD<<>< ?D4F5744F=>EFV 
>5?44=4==O, 4>EO7=5==O >?F<<4?L=<E ?4D4<5FDV6 =>7> DG=>FV>=G64==O F4 
74557?5G5==O ?5DE>=4?G L<D>><< =45>D>< 74E>5V6 4V47=>EF<><, G?D46?V==O, 
>5?V>G V ?D>F>>>?N64==O, ??4=GTFLEO >5?44=4F< FD< ��% L4D4<< >5DG64==O, 4 
E4<5: ��% =4 �>DF>6V= 1/3; ��% =4 6G?. �>=EF<FGFVW, 18; ��% =4 ?D>E?5>FV 
�5D>W6 �=V?D4, 17/10. 

�?O G?D46?V==O 5?5>FD>46<7G=4<< =4E>EV6 ?5D5454G4TFLEO 6<>>D<EF4==O 
L4D >5DG64==O  7 ?>>4?L=<<< ?D>7D4<>64=<<< ?>7VG=<<< >>=FD>?5D4<<. 

�4=V L4D< 6>?NG4NFL 6 E555 ?D>7D4<>64=<= ?>7VG=<= >>=FD>?5D, 
V=F5D4>F<6=G 7D4DVG=G ?4=5?L >?5D4F>D4, =5>5EV4=<= =45VD <>4G?V6 66545==O / 
6<6545==O F4 <5D56565 >5?44=4==O 4?O >D74=V74FVW 76'O7>G 7V SCADA-E<EF5<>N; 

�6'O7>> <V6 ?>>4?L=<<< ?D>7D4<>64=<<< ?>7VG=<<< >>=FD>?5D4<< F4 
SCADA-E<EF5<>N 74V=E=NTFLEO ?> Ethernet. 

%FDG>FGD4 E<EF5<< G?D46?V==O 4>76>?<FL 755DV74F< ?>>4?L=<= >>=FD>?L 
=44 WW >><?>=5=F4<< 6 D47V 6FD4F< 76'O7>G 45> ?D< 6<E>4V 7 ?44G >5?44=4==O 
>>D5<<E E57<5=FV6. 

�?O 6<7=4G5==O 64DF>EFV 74E>4G =4L><G ?V4?D<T<EF6G =44V=L?> 46V 
?D>?>7<FVW =4 >><??5>F=V L4D< >5DG64==O: 6V4 &�� «�=65=5D=<= F5=FD �%�-

�D
VF
V=
A<
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�6F><4F<74FVO » <. �<W6, F4 ��� «%?46GF<G» <. �<W6. �> D>7D4EG=>G 64DF>EFV 
74E>4G ?D<==OF> ?D>?>7<FVN &�� «�=65=5D=<= F5=FD �%�-�6F><4F<74FVO», O> 
=4=<5=L 64DFVE=G: 

 
7 
?/? 

�4=<5=G64==O 
<4F5DV4?G 

�4. 
6<<VDG 

�V?L>VEFL �4DFVEFL 
>4<=<FV, 
7D=., 557 

��� 

�474?L=4 
64DFVEFL, 
7D=., 557 

��� 

�>EF4G4?L=<> 

1 �><??5>F=4 L4D4 
>5DG64==O 4?O ��% 
(G?D46?V==O 46><4 

=4E>E=<<< 47D574F4<< 
?>FG6=VEFN 4> 3,7 >�F) 

LF. 3 163640,00 327280,00 &�� 
«�=65=5D=<= 
F5=FD �%�-

�6F><4F<74FVO 
» 

2 �><??5>F=4 L4D4 
>5DG64==O 4?O ��% 
(G?D46?V==O 46><4 

=4E>E=<<< 47D574F4<< 
?>FG6=VEFN 4> 7,5 >�F) 

LF. 1 241979,00 241979,00 &�� 
«�=65=5D=<= 
F5=FD �%�-

�6F><4F<74FVO 
» 

�EL>7> 64DFVEFL 74E>4G LF. 3  569259,00  

 
2) �<7=4G5==O EFD>>G >>G?=>EFV F4 5>>=><VG=>7> 5D5>FG 6V4 

6?D>64465==O 74E>4G V=65EF<FV==>W ?D>7D4<< �EF4=>6?5==O L4D >5DG64==O 

7 <>6?<6VEFN 6V444?5=>7> >5DG64==O ��%  <. �>DVL=V �?46=V �>?F46EL>>W 

>5?4EFV: 

�464O>< 6EF4=>6?5==N L4D >5DG64==O ??4=GTFLEO 4>EO7=GF< =5 FV?L>< 
557?5D55V==>W V =44V==>W D>5>F< =4E>E=>7> >5?44=4==O, 4 = >FD<<4F< 5>>=><VN 
5?5>FD>5=5D7VW. � E5D54=L><G F4>4 5>>=><VO EF4=>6<F<<5 7% 6V4 DVG=>7> 
E?>6<64===O =4E>E=>N EF4=FVTN. 

$VG=5 E?>6<64==O 5?5>FD>5=5D7VW: 
- ��% =4 �>DF>6V= 1/3 3 8753 >�F; 
- ��% =4 6G?. �>=EF<FGFVW,18 3 1472 >�F; 
- ��% =4 ?D>E?5>FV �5D>W6 �=V?D4, 17/10 3 1867 >�F. 
�474?L=4 >V?L>VEFL 75>>=><?5=>W 5?5>FD>5=5D7VW ?> ��% EF4=>6<FL 3 

12092 >�F. 
�>>=><VO E>?445: (12092E7)/ 100 =846,44 >�F/DV>  
�4DFVEFL 75>>=><?5=>W 5?5>FD>5=5D7VW, 6D4E>6GNG< 64DFVEFL 1>�F/7>4, O>4 

EF4=>< =4 30.06.2023 D. D47>< 7 D>7?>4V?>< EF4=>6<FL 5,52 7D=, 557 ���, 
E>?444T: 

846,44E5,52 =4672,35 7D=/DV>. 
&5D<V= >>G?=>EFV E>?445:569,267D=./4,677D=.=121,90 j1463 <VEOFV 

�D4E>6GNG< 6<M56<>?445=5 M>4> >>G?=>EFV D54?V74FVW 44=>7> 74E>4G, T 
?V4EF64 7D>5<F< 6<E=>6>>, M> F5= 74EV4 =5 44T 5>>=><VG=>7> 5D5>FG, 4 T 
74E>4><, M> ?>>D4MGT =44V==VEFL D>5>F< >5?44=4==O, 4 F4>>6 O>VEFL, F4 
557?5D5D6=VEFL =444==O ?>E?G7 6>4>?>EF4G4==O =4E5?5==N <VEF4. 

3) �5�DG=FG64==O 64DF>EFV 74??4=>64=>7> 74E>4G ?> �EF4=>6?5==O 

L4D >5DG64==O 7 <>6?<6VEFN 6V444?5=>7> >5DG64==O ��%  <. �>DVL=V 

�?46=V �>?F46EL>>W >5?4EFV ?>44=> =4 60-63 EF>DV=>4E 
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1.2 �4E>4< M>4> 74557?5G5==O F5E=>?>7VG=>7> F4/45> >><5DFV==>7> >5?V>G 
D5EGDEV6, 7 =<E: =5<4T 74E>4V6 

1.3. �4E>4< M>4> 7<5=L5==O >5EO7G 6<FD4F 6>4< =4 F5E=>?>7VG=V ?>FD55<, 7 
=<E: =5<4T 74E>4V6 

1.4. �4E>4< M>4> ?V46<M5==O O>>EFV ?>E?G7 7 F5=FD4?V7>64=>7> 
6>4>?>EF4G4==O, 7 =<E: =5<4T 74E>4V6 

1.5. �4E>4< M>4> 6?D>64465==O F4 D>76<F>G V=D>D<4FV==<E F5E=>?>7V=, 7 
=<E: =5<4T 74E>4V6 

1.6. �4E>4< M>4> <>45D=V74FVW F4 74>G?V6?V FD4=E?>DF=<E 74E>5V6 
E?5FV4?L=>7> F4 E?5FV4?V7>64=>7> ?D<7=4G5==O, 7 =<E: =5<4T 74E>4V6 

1.7. �4E>4< M>4> ?V46<M5==O 5>>?>7VG=>W 557?5>< F4 >E>D>=< 
=46>>?<L=L>7> E5D54>6<M4, 7 =<E: =5<4T 74E>4V6 

1.8. �=LV 74E>4<, 7 =<E: 
1.8.1. $5>>=EFDG>FVO $� 19 V7 74<V=>N <>D4?L=> F4 DV7<G=> 74EF4DV?>7> 

>5?44=4==O =4 5=5D7>5D5>F<6=5. 
1) &5E=V>> 3 5>>=><VG=5 >5�DG=FG64==O =5>5EV4=>EFV F4 

4>FV?L=>EFV 6?D>64465==O 74E>4G «$5>>=EFDG>FVO $� 19 V7 74<V=>N 

<>D4?L=> F4 DV7<G=> 74EF4DV?>7> >5?44=4==O =4 5=5D7>5D5>F<6=5».  

�?O ?D<=><G F4 D>7?>4V?G 5?5>FD>5=5D7VW =4 >59T>F< 6>4>?>EF4G4==O �� 
�'��� 6<>>D<EF>6GTFLEO $� 19, M> 7=4E>4<FLEO =4 F5D<F>DVW 4V?L=<FV 
«�>4>>G<E=V E?>DG4<» 74 44D5E>N 6G?. %>5>D=4, 95.   

�><VD>< 6 $� <4NFL DV7=V EE5<< 74?>6=5==O >5?44=4==O<. &4>, G 66V4=<E 
F4 ?V=V==<E OG5=>4E 7<>=F>64=V L<==V V7 7475<?NNG<<< =>64<< V ?V=V==V 
D>7'T4=G64GV, 4 F4>>6 <4E?O=V 6<<<>4GV 7 ?D<6>44<<, FD4=ED>D<4F>D< EFDG<G V 
FD4=ED>D<4F>D< =G?L>6>W ?>E?V4>6=>EFV. 

' 79O7>G 7 F<<, M> 44=4 $� ?>5G4>64=4 M5 G 1994 D>FV, F><G >5?44=4==O 
G65 DV7<G=> V <>D4?L=> 74EF4DV?5 F4 7=>L5=5. �D4E>6GNG< F5, M> D5?5==<= 
74E<EF 6 >><VD>4E 44=>W $� 6V4EGF=V=, 46F><4F<G=>7> 6<<>4==O D575D6G =5<4T, 4 
6<<<>4GV 6 >><VD>4E <4E?O=V, M> T 6<5GE>6> F4 ?>656>=5557?5G=<< O> 4?O 
?D4FV6=<>V6 4V?L=<FV F4 >5?44=4==O 6>4>?>EF4G4==O, F4> V 4?O =46>>?<L=L>7> 
E5D54>6<M4, ?D<=OF> DVL5==O ?D> 74<V=G 46>E >><VD>> V7 74<V=>N <4E?O=<E 
6<<<>4GV6 =4 64>GG<=V, M> <4NFL 5V?LLG >><GF4FV==G <>6?<6VEFL, EGFFT6> 
5V?LL<= >><GF4FV==<= D5EGDE F4 7=<65=V <4E>7454D<F=V D>7<VD<. �4=V >><VD>< 
5G4GFL E>?444F<EO 7 64>GG<=>7> 6<<<>4G4, ?V=V==>7> D>79T4=G64G4, L<==>7> 
D>79T4=G64G4 F4 EE5<< D5?5==>7> 74E<EFG.  

�E=>6=V ?5D5647< 74<V=< 6>474=>7> 6<M5 >5?44=4==O: 
- 74EV==O 5?5>FD<G=>W 4G7< G 64>GG<=><G E5D54>6<MV 5V?LL 5D5>F<6=>, 

=V6 G <4E?O=><G; 
- =5<4T =5>5EV4=>EFV?>EFV==> E?V4>G64F< 74 DV6=4< <4E?4 F4 4>?<64F< 

=>7> G 6<?44>G =5>5EV4=>EFV; 
- ?V46<M5=4 EFV=>VEFL 4> 7=>EG; 
- ?D>EF>F4 G 6EF4=>6?5==V, 6<>>D<EF4==V F4 D5<>=FV; 
- =5 6<4V?OT =5557?5G=V 747<, M> 745DG4=NNFL =46>>?<L=T ?D<D>4=5 

E5D54>6<M5; 
- L6<4>5 E?D4FN64==O 6<<<>4G4 ?D< 6<O6?5==V ?D>5?5< 6 <5D56V. 
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�4DFVEFL 74E>4G 6V4?>6V4=> 4> 76545=>7> >>LF>D<EG E>?444T: 
705,56 F<E. 7D=. 

2) �<7=4G5==O EFD>>G >>G?=>EFV F4 5>>=><VG=>7> 5D5>FG 6V4 

6?D>64465==O 74E>4G V=65EF<FV==>W ?D>7D4<< ?> «$5>>=EFDG>FVO $� 19 V7 

74<V=>N <>D4?L=> F4 DV7<G=> 74EF4DV?>7> >5?44=4==O =4 

5=5D7>5D5>F<6=5»: 

�464O>< 74<V=V >><VD>> =4 $� 19 ??4=GTFLEO 4>EO7=GF< 557?5D55V==>W V 
=44V==>W D>5>F< O> E4<>W $� 19, F4> V GEL>7> 5?5>FD>>5?44=4==O >5T>FV6 
6>4>?>EF4G4==O. 

�D4E>6GNG< 6<M56<>?445=5 T ?V4EF64 7D>5<F< 6<E=>6>>, M> F5= 74EV4 =5 
44T 5>>=><VG=>7> 5D5>FG, 4 T 74E>4><, M> ?>>D4MGT =44V==VEFL D>5>F< 
>5?44=4==O, 4 F4>>6 O>VEFL, F4 557?5D5D6=VEFL =444==O ?>E?G7 6>4>?>EF4G4==O 
=4E5?5==N <VEF4. 

3) �5�DG=FG64==O 64DF>EFV 74??4=>64=>7> 74E>4G ?> <>45D=V74FVW 

=4E>E=>7> >5?44=4==O ?>44=> =4 68-69 EF>DV=>4E. 
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1.8.2. �>=F46 F4 75<D4==O E<?>6<E M<FV6 =4 ��% <VEF4 �>DVL=V �?46=V. 
1) &5E=V>> 3 5>>=><VG=5 >5�DG=FG64==O =5>5EV4=>EFV F4 

4>FV?L=>EFV 6?D>64465==O 74E>4G «�>=F46 F4 75<D4==O E<?>6<E M<FV6 =4 

��% <VEF4 �>DVL=V �?46=V».  

�?O 74557?5G5==O ?<F=>N 6>4>N 5474F>?>65DE>6<E 5G4<=>V6 
6<>>D<EF>6GNFLEO ?V46<MG64?L=V =4E>E=V EF4=FVW. �4 54?4=EV ?V4?D<T<EF64 
7=4E>4<FLEO 13 ?V46<MG64?L=<E =4E>E=<E EF4=FV= (��% =4 &&� 10 
<V>D>D4=>=G; ��% =4 &&� 12 <V>D>D4=>=G; ��% =4 &&� 15 <V>D>D4=>=G; ��% 
?> 6G?<FV �>5D>6>?LEL>>7>, 28; ��% ?> ?D>E?5>FG �5D>W6 �=V?D4, 36; ��% ?> 
?D>E?5>FG �5D>W6 �=V?D4, 41; ��% ?> 6G?<FV �<DG, 31; ��% ?> ?D>E?5>FG 
�5D>W6 �=V?D4, 23; ��% ?> ?D>E?5>FG �5D>W6 �=V?D4, 24; ��% ?> 6G?<FV 
�>=EF<FGFVW 18; ��% ?> ?D>E?5>FG �5D>W6 �=V?D4, 17/10; ��% ?> ?D>E?5>FG 
�5D>W6 �=V?D4, 10/13; ��% ?> 6G?<FV �>DF>6V=, 1,3). 

' 769O7>G 7 F<<, M> =4 ��% <VEF4 >E=>6=<< F5E=>?>7VG=<< >5?44=4==O< T 
=4E>E<, GEV =4E>E=V EF4=FVW <4NFL 5GF< >5?44=4=V 5?5>FD<G=<<< M<F4<<. �4D47V 
=4 ��% ?> 6G?<FV �5D>W6 �=V?D4, 36; ��% ?> 6G?<FV �>5D>6>?LEL>>7>, 28; ��% 
?> ?D>E?5>FG �5D>W6 �=V?D4, 24; ��% ?> ?D>E?5>FG �5D>W6 �=V?D4, 10/13 E<?>6V 
M<F< =5 ?D<44F=V 4> >>D<EFG64==O. &><G ?D<==OF> DVL5==O ?D>65EF< WE ?>6=G 
74<V=G, G >V?L>>EFV 4 LF. �464O>< 6EF4=>6?5==N E<?>6<E M<FV6 ??4=GTFLEO 
74557?5G<F< EF45V?L=VEFL V =44V==VEFL D>5>F< 6>474=<E 6<M5 >59T>FV6 
6>4>?>EF4G4==O. 

�?5>FD>M<F O6?OTFLEO >4=VTN 7 F5=FD4?L=<E G4EF<= ?D>6>4><, 45 
D>7F4L>6GNFLEO 6EV ?D<EFD>W, ?D<EFDV= 74E<E=>7> 6V4>?NG5==O F4 ?VG<?L=<>< 
5?5>FD>5=5D7VW. 

�?5>FD<G=<= M<F 6<>>=G64F<<5 ?>46V==G DG=>FVN: 74557?5GG64F<<5 
66545==O V D>7?>4V? 5?5>FD<>< F4 EF6>DN64F<<5 557?5G=V G<>6< 5>E??G4F4FVW, 4 
E4<5: 74557?5GG64F<<5 =5>5EV4=<= 74E<EF 6V4 ?>L>>465=L, 6V4 GD465==O 
?N4<=< EFDG<><, 4 F4>>6 6V4 ?5D5?44V6 5=5D7VW, M> 755D565 4>67>6VG=VEFL 
6<>>D<EF>6G64=<E ?D<EFD>W6.  

/>M> EF4DV M<F< <>7?< >E>D>=OF< F5E=V>G 6V4 >>D>F>>7> 74<<>4==O V 
77>DO==O 6<>?NG=> 74 4>?><>7>N D>7??46?5==O 74?>5V6=<>4, M> D>5<?> 
?D<?44 >4=>D47>6<< 64DV4=F><, F> EGG4E=V 5?5>FD>M<F< >E=4M5=V 
46F><4F<G=<<< 6<<<>4G4<< V E4<V <>6GFL ?5D5>D<64F< E<EF5<G. 

�474?L=4 64DFVEFL >5?44=4==O D47>< 7 D>5>F4<< 3 221,44 F<E. 7D=. 
2) �<7=4G5==O EFD>>G >>G?=>EFV F4 5>>=><VG=>7> 5D5>FG 6V4 

6?D>64465==O 74E>4G V=65EF<FV==>W ?D>7D4<< ?j �>=F46e F4 75<D4==N 

E<?>6<E M<FV6 =4 ��% <VEF4 �>DVL=V �?46=V: 

$54?V74FVW 44=>7> 74E>4G =5 44T 5>>=><VG=>7> 5D5>FG, 4 T 74E>4><, M> 
?>>D4MGT =44V==VEFL D>5>F< >5?44=4==O, 4 F4>>6 O>VEFL, F4 557?5D5D6=VEFL 
=444==O ?>E?G7 6>4>?>EF4G4==O =4E5?5==N <VEF4. 

3) �5�DG=FG64==O 64DF>EFV 74??4=>64=>7> 74E>4G ?> <>45D=V74FVW 

=4E>E=>7> >5?44=4==O ?>44=> =4 73-74 EF>DV=>4E 
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2. �������������/ 
 

�G4V6=<FF6>, D5>>=EFDG>FVO F4 <>45D=V74FVO >5'T>FV6 6>4>6V46545==O, 7 
GD4EG64==O<: 

 
2.1. �4E>4< 7V 7=<65==O ?<F><<E 6<FD4F, 4 F4>>6 6FD4F D5EGDEV6, 7 =<E: 

2.1.1. &5E=VG=5 ?5D5>E=4M5==O 6G7?V6 D57G?N64==O ?D<=<4==O EFVG=<E 6>4 
=4 ��%-1� 6 <VEFV �>DVL=V �?46=V �>?F46EL>>W >5?4EFV 

 
1) &5E=V>>-5>>=><VG=5 >5�DG=FG64==O =5>5EV4=>EFV F4 4>FV?L=>EFV 

F5E=VG=>7> ?5D5>E=4M5==O 6G7?V6 D57G?N64==O ?D<=<4==O EFVG=<E 6>4 =4 

��%-1� 6 <VEFV �>DVL=V �?46=V �>?F46EL>>W >5?4EFV. 

�D>?>=GTFLEO ?D>65EF< F5E=VG=5 ?5D5>E=4M5==O 6G7?V6 D57G?N64==O 
?D<=<4==O EFVG=<E 6>4 =4 ��%-1� <VEF4 V7 74<V=>N EF4D<E G46G==<E 74EG6>> =4 
74EG6>< V7 EGG4E=<E <4F5DV4?V6 F4 <>4<DV>4FV= 6 >V?L>>EFV 2 >4.: 

4V4<5FD>< 500 << 3 2 LF. 
�?D>64465==O 44=>7> 74E>4G T 4>FG4?L=<< G 76'O7>G 7 74EF4DV?<< 

>5?44=4==O< D5<>=F O>>7> =5 ?D<=>E<FL ?>7<F<6=<E D57G?LF4FV6, F4> O> 
>><??5>FGNGV 4> G46G==<E 74EG6>> =5 ?>EF46?ONFLEO >>D5<>, 4 75D<5F<G=VEFL 
74?VD=>W 4D<4FGD< =4 ��%-1� <4T 5GF< >>=FD>?L>64=4, F><G O> 
557>>=FD>?L=VEFL >4=4?V74FV==>W EFVG=>W DV4<=< ?D<76>4<FL 4> 4>44F>>6<E 
6<FD4F 5?5>FD>5=5D7VW ?> ?V4?D<T<EF6G V 6??<64T =4 5>>?>7VG=<= EF4= 
=46>>?<L=L>7> E5D54>6<M4. 

�4?VD=4 4D<4FGD4 =4 ��% 1-� 6V4?D4FN64?4 E6V= D5EGDE V 7=4E>4<FLEO 6 
=5744>6V?L=><G EF4=V.  

2) �<7=4G5==O EFD>>G >>G?=>EFV F4 5>>=><VG=>7> 5D5>FG 6V4 

6?D>64465==O 74E>4G V=65EF<FV==>W ?D>7D4<< 7 F5E=VG=>7> ?5D5>E=4M5==O 

6G7?V6 D57G?N64==O ?D<=<4==O EFVG=<E 6>4 =4 ��%-1� 6 <VEFV �>DVL=V 

�?46=V �>?F46EL>>W >5?4EFV. 

$54?V74FVO 44=>7> 74E>4G =5 44T 5>>=><VG=>7> 5D5>FG, 4 T 74E>4><, M> 
7455E?5GGT >>=FD>?L 74 >4=4?V74FV==>N EFVG=>N DV4<=>N F4 4>76>?OT =5 
4>?GE>4F< 4> 75V?LL5==O 6<FD4F 5?5>FD>5=5D7VW ?> ?V4?D<T<EF6G. 

3) �5�DG=FG64==O 64DF>EFV 74??4=>64=>7> 74E>4G 7 F5E=VG=>7> 

?5D5>E=4M5==O 6G7?V6 D57G?N64==O ?D<=<4==O EFVG=<E 6>4 =4 ��%-1� 6 

<VEFV �>DVL=V �?46=V �>?F46EL>>W >5?4EFV ?>44=> =4 78-79 EF>DV=>4E.  

�?O 6<7=4G5==O 64DF>EFV 74E>4G =4L><G ?V4?D<T<EF6G =44V=L?> 46V 
>><5DV==V ?D>?>7<FVW 6V4 &�� «���� &�%�������» <. �<W6 F4 &�� 
«&>D7V65?L=<= 4V< «�6D>FDG5??4EF» <. �>?F464. 

�> D>7D4EG=>G 64DF>EFV 74E>4G ?D<==OF> ?D>?>7<FVN &�� «���� 
&�%�������», O> <5=L 64DFVE=G:  

 
7 
?/? 

�4=<5=G64==O 
<4F5DV4?G 
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6<<VDG 
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�474?L=4 
64DFVEFL, 
7D=., 557 
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2.1.2. �>45D=V74FVO =4E>E=>7> >5?44=4==O =4 >4=4?V74FV==<E =4E>E=<E 
EF4=FVOE ��% 14; ��% 15 F4 ��% 9 6 <. �>DVL=V �?46=V �>?F46EL>>W 

>5?4EFV 
 
1) &5E=V>> 3 5>>=><VG=5 >5�DG=FG64==O =5>5EV4=>EFV F4 

4>FV?L=>EFV 6?D>64465==O 74E>4G �>45D=V74FVO =4E>E=>7> >5?44=4==O =4 

>4=4?V74FV==<E =4E>E=<E EF4=FVOE ��% 14; ��% 15 F4 ��% 9 6 <. �>DVL=V 

�?46=V �>?F46EL>>W >5?4EFV.  

�4=4?V74FV==V =4E>E=V EF4=FVW ��% 14; ��% 15 F4 ��% 9 6 <. �>DVL=V 
�?46=V �>?F46EL>>W >5?4EFV ?D<7=4G5=V 4?O 6V46545==O EF>>V6 7 6V4?>6V4=<E 
<V>D>D4=>=V6 <VEF4, 4 =4E>E=4 EF4=FVO 1� ?D<=<4T EF>>< 7 GEVE >4=4?V74FV==<E 
=4E>E=<E EF4=FV= F4 FD4=E?>DFGT WE =4 >4=4?V74FV==V >G<E=V E?>DG4<. 

�4 >4=4?V74FV==V= =4E>E=V= EF4=FVW 9 6EF4=>6?5=> 7 =4E>E=<E 47D574FV6: 
>E=>6=<= =4E>E �X 3462-$U 104 - 1 LF.; >E=>6=<= =4E>E �XS 3457-$U 94 - 1 
LF.; 4>?><V6=<= =4E>E %� 800/32 -1 LF.; >E=>6=<= =4E>E �X 3456-$U 94 - 1 
LF.; D575D6=<= =4E>E �X 3456-$U 94 - 1 LF.; D575D6=<= =4E>E �X 3462-$U 104 
- 1 LF.; 4D5=46=<= =4E>E Wilo TP65E 114/11. �> 74<V=< ?D>?>=GTFLEO =4E>E 
>E=>6=<= =4E>E �X 3462-$U 104 - 1 LF., O><= 5G?> 66545=> 6 5>E??G4F4FVN G 
2013 D>FV.  

�4 >4=4?V74FV==V= =4E>E=V= EF4=FVW 7 14 6EF4=>6?5=> 2 =4E>E=<E 47D574F<: 
2 >E=>6=<E =4E>E< 2 %� 80.50.200/4 3 1 LF., M> ?D4FNNFL G ?4DV. �> 74<V=< 
?D>?>=GTFLEO >E=>6=<= =4E>E 2 %� 80.50.200/4 3 1 LF., O><= 5G?> 66545=> 6 
5>E??G4F4FVN G 2014 D>FV. 

�4 >4=4?V74FV==V= =4E>E=V= EF4=FVW 7 15 6EF4=>6?5=> 2 =4E>E=<E 47D574F<: 
2 >E=>6=<E =4E>E< 2 %� 80.50.200/4 3 1 LF., M> ?D4FNNFL G ?4DV. �> 74<V=< 
?D>?>=GTFLEO >E=>6=<= =4E>E 2 %� 80.50.200/4 3 1 LF., O><= 5G?> 66545=> 6 
5>E??G4F4FVN G 2015 D>FV. 

'EV =4E>E=V 47D574F<, M> ?D>?>=GNFLEO 4> 74<V=< ?D4FNNFL =4 
>4=4?V74FV==<E =4E>E=<E EF4=FVOE O> >E=>6=V 4?O ?5D5>4GG64==O EF>>V6, 6 ?4DV 7 
V=L<< =4E>E><. 

%5D54=V= ED>> E?G65< =4E>E=<E 47D574FV6 E>?444T 10 D>>V6. �4 44=<= 
<><5=F =4E>E<, M> ?D>?>=GNFLEO 4> 74<V=< <>D4?L=> V DV7<G=> 74EF4DV?<, WE=V= 
F5E=VG=<= EF4= T =5744>6V?L=<< F4 ?>FD55GT 7=4G=<E ?N4EL><E, DV=4=E>6<E 
6<FD4F =4 D5<>=F F4 F5E=VG=5 >5E?G7>6G64==O. �>65 =4E>E=5 >5?44=4==O 6 
?>DV6=O==V 7 EF4D<< >D4M5 6 5>E??G4F4FVW F4 ?>FD55GNFL <5=L5 7D>L>6<E 
6<FD4F. %F4DV =4E>E=V 47D574F< DV7<G=> 74EF4DV?<, M> ?D<76>4<FL 4> ?>EFV==<E 
?>?><>>, 4 F5 <>65 ?D<65EF< 4> 464DV==<E E<FG4FV= =4 F4 E?D<G<=<F< 
5>>?>7VG=G >4F4EFD>DG. 

�?O 6<7=4G5==O 64DF>EFV 74E>4G =4L><G ?V4?D<T<EF6G =44V=L?> 46V 
?D>?>7<FVW =4 =4E>E=5 >5?44=4==O: 6V4 &�� «�><?4=VO 5=5D7VO 6>4<» <. �<W6 F4 
&�� «'�$��%�%%�$��%» <. %4D>V6. 

�4DFVEFL 74E>4G: 800,43 F<E.7D=. 
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7 
?/? 

�4=<5=G64==O 
<4F5DV4?G 

�4. 
6<<VDG 

�V?L>VEFL �4DFVEFL 
>4<=<FV, 

7D=. 

�474?L=4 
64DFVEFL, 

7D=. 

�>EF4G4?L=<> 

1 �4=4?V74FV==<= =4E>E =4 
��% 9 

�4E>E MXS3457-PU94 

LF. 1 280525,00 280525,00 &�� 
«�><?4=VO 

5=5D7VO 6>4<» 
2 �4=4?V74FV==<= =4E>E =4 

��% 14  
�4E>E HOMA V1332-

ET62 horizontal 

LF. 1 259951,93 259951,93 &�� 
«�><?4=VO 

5=5D7VO 6>4<» 

3 �4=4?V74FV==<= =4E>E =4 
��% 15  

�4E>E HOMA V1332-
ET62 horizontal 

LF. 1 259951,93 259951,93 &�� 
«�><?4=VO 

5=5D7VO 6>4<»  

�EL>7> 64DFVEFL 74E>4G  3  800428,86  

 
2) �<7=4G5==O EFD>>G >>G?=>EFV F4 5>>=><VG=>7> 5D5>FG 6V4 

6?D>64465==O 74E>4G V=65EF<FV==>W ?D>7D4<< 74<V=< 7>6=VL=L>W 

>4=4?V74FV==>W <5D56V: &4> O> =>65 =4E>E=5 >5?44=4==O <4T FV 6 E4<V 
?4D4<5FD<, M> V EF4D5, 4?5 >D4MV 5=5D75F<G=V ?>>47=<>< >>4, cosÇ, F> 
5>>=><VG=<= 5D5>F 4?O 74E>4G =5 6<7=4G4TFLEO. 

 

3) �5�DG=FG64==O 64DF>EFV 74??4=>64=>7> 74E>4G ?> <>45D=V74FVW 

=4E>E=>7> >5?44=4==O ?>44=> =4 84-86 EF>DV=>4E. 
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* &V=4 6 44=V= >><5DFV==V= ?D>?>7<FVW 6>474=4 7 GD4EG64==O< T4<=>7> ?>44F>G, 
4> D>7D4EG=>G V=65EF<FV==>W ?D>7D4<< 6>?NG5=> FV=< 557 GD4EG64==O ?>44F>G. 
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* &V=4 6 44=V= >><5DFV==V= ?D>?>7<FVW 6>474=4 7 GD4EG64==O< T4<=>7> ?>44F>G, 
4> D>7D4EG=>G V=65EF<FV==>W ?D>7D4<< 6>?NG5=> FV=< 557 GD4EG64==O ?>44F>G. 
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2.2 �4E>4< M>4> 74557?5G5==O F5E=>?>7VG=>7> F4/45> >><5DFV==>7> >5?V>G 
D5EGDEV6, 7 =<E: 

 
2.2.1 �D<454==O ?D<?44V6 >5?V>G =4 ��%F4 ��% 1� 6 <VEFV �>DVL=V �?46=V 

�>?F46EL>>W >5?4EFV 
 

1) &5E=V>>-5>>=><VG=5 >5�DG=FG64==O =5>5EV4=>EFV F4 4>FV?L=>EFV 

�D<454==O ?D<?44V6 >5?V>G =4 ��% F4 ��% 1� 6 <VEFV �>DVL=V �?46=V 

�>?F46EL>>W >5?4EFV 

�?D>64465==O 44=>7> 74E>4G =5>5EV4=> 4?O 74557?5G5==O ?>6=>F< >5?V>G 
EFVG=<E 6>4, O>V =44E>4OFL =4 ��%; F4 7>?>6=G >4=4?V74FV==G =4E>E=G EF4=FVN 
��% 1�. 

' 2024 D>FV ?5D5454G4TFLEO 6EF4=>6<F<: 
- G?LFD476G>>6V 6>4>?VG<?L=<>< G >V?L>>EFV 3 LF.: =4 6E>4V >4=4?V74FV==>W 

=4E>E=>W EF4=FVW ��% 1� =4 46>E FDG5>?D>6>44E 4G 800 << 7 ?5D544G5N 44=<E 
=4 >><?9NF5D - 1 LF. F4 4?O >D74=V74FVW >5?V>G EFVG=<E 6>4 6 =574?>6=5=<E 
?>F>4E, 7 ?5D544G5N 44=<E =4 >><?9NF5D =4 ��% - 2 LF. 

2) �5�DG=FG64==O 64DF>EFV 74??4=>64=>7> 74E>4G 5G?> 6<7=4G5=> 

6V4?>6V4=> 4> D>7D4EG=>G 7474?L=>W >>LF>D<E=>W 64DF>EFV F4 ?>44=> =4 90-

94 EF>DV=>4E. 

�5�DG=FG64==O 5D5>F<6=>EFV V=65EF<FV= 3 74557?5G5==O 100%-7> >5?V>G 
EFVG=<E 6>4, O>V =44E>4OFL =4 ��%; F4 ��% 1�.  

�?O 6<7=4G5==O 64DF>EFV 74E>4G =4L><G ?V4?D<T<EF6G =44V=L?> FD< 
>><5DV==V ?D>?>7<FVW =4 G?LFD476G>>6V ?VG<?L=<>< - &�� «&� &��-'�$����» 
<. �<W6, �� ��$ «�$����$� ����%&» <. �=V?D> F4 &�� «����$�-
'�$����» <.%4D>V6. 

�> D>7D4EG=>G 64DF>EFV 74E>4G ?D<==OF> >><5DV==G ?D>?>7<FVN 6V4 �� 
��$ «�$����$� ����%&» <. �=V?D>, O> <5=L 64DFVE=G: 
 
7 
?/? 

�4=<5=G64==O 
<4F5DV4?G 

�4. 
6<<VDG 

�V?L>VEFL �4DFVEFL 
>4<=<FV, 
7D=., 557 

��� 

�474?L=4 
64DFVEFL, 
7D=., 557 

��� 

�>EF4G4?L=<> 

1 �VG<?L=<> 
G?LFD476G>>6<= 

«�D7><5D4-125.��» 

LF. 1 120000,00 120000,00 �� ��$ 
«�$����$
� ����%&» 

2 �><??5>E >>=FD>?N 
DV6=O «���$ 126» 

LF. 2 146000,00 292000,00  

�EL>7> 64DFVEFL 74E>4G LF. 3  412000,00  

 
�474?L=4 64DFVEFL 74E>4G E>?444T 3 412000,00 7D=.  

$54?V74FVW 44=>7> 74E>4G =5 44T 5>>=><VG=>7> 5D5>FG, 4 T 74E>4><, M> 
7455E?5GGT 100% >5?V> EFVG=<E 6>4, O>V =44E>4OFL =4 ��%F4 ��% 1�. 

3) �<7=4G5==O EFD>>G >>G?=>EFV F4 5>>=><VG=>7> 5D5>FG 6V4 

6?D>64465==O 74E>4G V=65EF<FV==>W ?D>7D4<< �D<454==O ?D<?44V6 >5?V>G =4 

��%; F4 ��% 1� 6 <VEFV �>DVL=V �?46=V �>?F46EL>>W >5?4EFV - =5 
6<7=4G4TFLEO, 74EV4 6?D>6446GTFLEO 7 <5F>N >5?V>G EFVG=<E 6>4. 
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* &V=4 6 44=V= >><5DFV==V= ?D>?>7<FVW 6>474=4 7 GD4EG64==O< T4<=>7> ?>44F>G, 
4> D>7D4EG=>G V=65EF<FV==>W ?D>7D4<< 6>?NG5=> FV=< 557 GD4EG64==O ?>44F>G. 
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&�� "��I�$�-'�$����" 
  
6G?. �D>E>GD< �>445<V>4, 5G4.1  
<. %4D>V6 
 
6G?. �DGFEL>4,  5G4. 29 
<. '5D=V6FV  
 
E-mail: dnieper.su@gmail.com 
&5?5D>=: +38 067 545 77 09 
&5?5D>=: +38 067 011 74 77 

 

 

 
 
�<E.7389 08/09/2023                       �5DV6=<>G  
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2.3. �4E>4< M>4> ?D>64465==O F4 D>76<F>G V=D>D<4FV==<E F5E=>?>7V=, 7 
=<E: 

 
2.4. �4E>4< M>4> <>45D=V74FVW F4 74>G?V6?V FD4=E?>DF=<E 74E>5V6 

E?5FV4?L=>7> F4 E?5FV4?V7>64=>7> ?D<7=4G5==O, 7 =<E: 
 

2.5. �4E>4< M>4> ?V46<M5==O 5>>?>7VG=>W 557?5>< F4 >E>D>=< 
=46>>?<L=L>7> E5D54>6<M4, 7 =<E: 

 
2.5.1. $5>>=EFDG>FVO 45D>4>E5?4F>DG 7 3 =4 F5D<F>DVW >4=4?V74FV==<E 

>G<E=<E E?>DG4 ?> 6G?. �G4V65?L=<>V6, 7 6 <VEFV �>DVL=V �?46=V 
�>?F46EL>>W >5?4EFV. 

 
1.)&5E=V>>-5>>=><VG=5 >5�DG=FG64==O =5>5EV4=>EFV F4 4>FV?L=>EFV 

6?D>64465==O 74E>4G $5>>=EFDG>FVO 45D>4>E5?4F>DG 7 3 =4 F5D<F>DVW 

>4=4?V74FV==<E >G<E=<E E?>DG4 ?> 6G?. �G4V65?L=<>V6, 7 6 <VEFV �>DVL=V 

�?46=V �>?F46EL>>W >5?4EFV. 

�4=4?V74FV==V >G<E=V E?>DG4< (��%) 6 <. �>DVL=V �?46=V 4 F5 >><??5>E 
E?>DG4 ?>6=>7> 5V>?>7VG=>7> >G<M5==O EFVG=<E 6>4, O>V =44E>4OFL =4?VD=<<< 
>>?5>F>D4<< 6V4 D>7F4L>64=<E =4 F5D<F>DVW <VEF4 >4=4?V74FV==<E =4E>E=<E 
EF4=FV=, �D�& �>?F46EL>>7> ��� V &�� �D<EFV6EL>>7> ���. 

�G4V6=<FF6> F4 D>7L<D5==O >G<E=<E E?>DG4 ?D>6>4<?>EL 6 45>V?L>4 
5F4?V6 ?>G<=4NG< 7 1970 ?> 1992DD. 

�474?L=<= F5E=VG=<= EF4= ��% <. �>DVL=V �?46=V 744>6V?L=<=, 4?5 45O>V 
E?>DG4< 6V4?D4FN64?< E6V= =>D<4F<6=>-F5E=VG=<= F5D<V= 5>E??G4F4FVW F4 
?>FD55GNFL =574==>W D5>>=EFDG>FVW. �>>D5<4 45D>4>E5?4F>D<. 
�5D>4>E5?4F>D< 4 >><5V=>64=V E?>DG4<, M> 6<>>=GNFL DG=>FVW 45D>F5=>V6 F4 
6F>D<==<E 6V4EFV==<>V6. 

�5D>4>E5?4F>D< ?D<7=4G5=V 4?O 74557?5G5==O 5V>?>7VG=>7> >G<M5==O 
EFVG=<E 6>4 6V4 745DG4=NNG<E D5G>6<=, M> 7=4E>4OFLEO 6 746<E?><G, 
>>?>W4=><G F4 D>7G<=5=><G EF4=V. �V>?>7VG=4 >G<EF>4 6 45D>4>E5?4F>DV 
6<>>=GTFLEO 6 D57G?LF4FV 6<FFT4VO?L=>EFV <V>D>>D74=V7<V6 4>F<6=>7> <G?G. 
%FVG=V 6>4<, M> =44E>4OFL 4> 45D>4>E5?4F>DV6, D>7?>4V?ONFLEO <V6 =<<< 
DV6=><VD=>. 

�4 ?5DV>4 5>E??G4F4FVW 45D>4>E5?4F>DV6: 
- 6 T<=>EFOE 45D>4>E5?4F>DV6 74<V=5=V 45D4F>D< E5D54=L>?GE<DF56>7> 

F<?G =4 4DV5=>?GE<DF56>7> F<?G �&$ <�>?VEF>>= G 2004 D>FV, M> 4>76>?<?> 
7=4G=> ?>?V?L<F< D>7?>4V? ><E=N ?> >5'T<G 45D>4>E5?4F>DV6 F4 ?V46<M<?> 
5D5>F<6=VEFL 5V>?>7VG=>7> >G<M5==O EFVG=<E 6>4. 

- 6EF4=>6?5=V 7G5G4EFV 7D55=V �&$ <�>?VEF>>= =4 75VD=<E ?>F>4E 
45D>4>E5?4F>DV6. 

�4D47V =4 D>5>FV 45D>4>E5?4F>DV6 =574F<6=> ?>7=4G4NFLEO 4>?GM5=V 
?><<?>< ?D< 5G4V6=<FF6V F4 DO4 =5?D4FNNG<E F5E=>?>7VG=<E 5?5<5=FV6 
>>=EFDG>FV= =4 >>D5<<E E?>DG44E: ?D>D646V?V >V?LF56V ?5D57>D>4><, M> 
6V44V?ONFL 7>=G 457474FVW 6V4 7>=< 6V4EF>N64==O, G5D57 O>V V=F5=E<6=> 
6<=>E<FLEO 4>F<6=<= <G?. �54>EF4F=O >V?L>VEFL ?>6VFDO 6 45D4FV==V= 7>=V 
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?D<76>4<FL 4> ?>DGL5==O ?D>F5EG >G<EF>< F4 =45GE4==N 4>F<6=>7> <G?G, M> 
DV7>> 7=<6GT >E446G64=VEFL G 6V4EFV==V= 7>=V.  

�EL>7> 6 =4O6=>EFV 8 45D>4>E5?4F>DV6, O>V D>7D4E>64=V =4 ?D>5>F=G 

?>FG6=VEFL, F>5F> 35 000<
3
/4>5G. &4> O> D4>F<G=>, 6 E5D54=L><G, >G<M4TFLEO 

5?<7L>> 10 000 <
3
/4>5G, F> ?D>?>=GTFLEO 4 45D>4>E5?4F>D< 6<65EF< 7 D>5>F< F4 

?D>65EF< ?>6=G D5>>=EFDG>FVN 4-E 45D>4>E5?4F>DV6 V7 74<V=>N EF4?56<E 
>>=EFDG>FV= =4 >>=EFDG>FVW 7 =5D646VNG>W EF4?V F4 45D4FV==>W E<EF5<< =4 
4DV5=>?GE<DF56G E<EF5<G. 

�?D>64465==O 74E>4G $5>>=EFDG>FVO 45D>4>E5?4F>DG 7 3 =4 F5D<F>DVW 
>4=4?V74FV==<E >G<E=<E E?>DG4 ?> 6G?. �G4V65?L=<>V6, 7 6 <VEFV �>DVL=V �?46=V 
�>?F46EL>>W >5?4EFV 5G45 6<>>=4=> 744?O 74<V=< <5F4?56<E ?D>D646V?<E 
>>=EFDG>FV=, 7 <5F>N =54>?GM5==O 6<=>EG 4>F<6=>7> <G?G. 

�4DFVEFL 74E>4G 1002,64 F<E. 7D=. 
2) �<7=4G5==O EFD>>G >>G?=>EFV F4 5>>=><VG=>7> 5D5>FG 6V4 

6?D>64465==O 74E>4G V=65EF<FV==>W ?D>7D4<< $5>>=EFDG>FVO 

45D>4>E5?4F>DG 7 3 =4 F5D<F>DVW >4=4?V74FV==<E >G<E=<E E?>DG4 ?> 6G?. 

�G4V65?L=<>V6, 7 6 <VEFV �>DVL=V �?46=V �>?F46EL>>W >5?4EFV 3 =5 
6<7=4G4TFLEO. �4EV4 ?D>6>4<FLEO 7 <5F>N ?V46<M5==O 5>>?>7VG=>W 557?5>< F4 
>E>D>=< =46>>?<L=L>7> E5D54>6<M4. 

 3) �5�DG=FG64==O 64DF>EFV 74??4=>64=>7> 74E>4G 5G?> 6<7=4G5=> 

6V4?>6V4=> 4> D>7D4EG=>G 7474?L=>W >>LF>D<E=>W 64DF>EFV F4 ?>44=> =4 99-

100 EF>DV=>4E. 
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2.5.2. $5>>=EFDG>FVO 45D>4>E5?4F>DG 7 1 =4 F5D<F>DVW >4=4?V74FV==<E 
>G<E=<E E?>DG4 ?> 6G?. �G4V65?L=<>V6, 7 6 <VEFV �>DVL=V �?46=V 

�>?F46EL>>W >5?4EFV. 
 

1.)&5E=V>>-5>>=><VG=5 >5�DG=FG64==O =5>5EV4=>EFV F4 4>FV?L=>EFV 

6?D>64465==O 74E>4G $5>>=EFDG>FVO 45D>4>E5?4F>DG 7 1 =4 F5D<F>DVW 

>4=4?V74FV==<E >G<E=<E E?>DG4 ?> 6G?. �G4V65?L=<>V6, 7 6 <VEFV �>DVL=V 

�?46=V �>?F46EL>>W >5?4EFV. 

�4=4?V74FV==V >G<E=V E?>DG4< (��%) 6 <. �>DVL=V �?46=V 4 F5 >><??5>E 
E?>DG4 ?>6=>7> 5V>?>7VG=>7> >G<M5==O EFVG=<E 6>4, O>V =44E>4OFL =4?VD=<<< 
>>?5>F>D4<< 6V4 D>7F4L>64=<E =4 F5D<F>DVW <VEF4 >4=4?V74FV==<E =4E>E=<E 
EF4=FV=, �D�& �>?F46EL>>7> ��� V &�� �D<EFV6EL>>7> ���. 

�G4V6=<FF6> F4 D>7L<D5==O >G<E=<E E?>DG4 ?D>6>4<?>EL 6 45>V?L>4 
5F4?V6 ?>G<=4NG< 7 1970 ?> 1992DD. 

�474?L=<= F5E=VG=<= EF4= ��% <. �>DVL=V �?46=V 744>6V?L=<=, 4?5 45O>V 
E?>DG4< 6V4?D4FN64?< E6V= =>D<4F<6=>-F5E=VG=<= F5D<V= 5>E??G4F4FVW F4 
?>FD55GNFL =574==>W D5>>=EFDG>FVW. �>>D5<4 45D>4>E5?4F>D<. 
�5D>4>E5?4F>D< 4 >><5V=>64=V E?>DG4<, M> 6<>>=GNFL DG=>FVW 45D>F5=>V6 F4 
6F>D<==<E 6V4EFV==<>V6. 

�5D>4>E5?4F>D< ?D<7=4G5=V 4?O 74557?5G5==O 5V>?>7VG=>7> >G<M5==O 
EFVG=<E 6>4 6V4 745DG4=NNG<E D5G>6<=, M> 7=4E>4OFLEO 6 746<E?><G, 
>>?>W4=><G F4 D>7G<=5=><G EF4=V. �V>?>7VG=4 >G<EF>4 6 45D>4>E5?4F>DV 
6<>>=GTFLEO 6 D57G?LF4FV 6<FFT4VO?L=>EFV <V>D>>D74=V7<V6 4>F<6=>7> <G?G. 
%FVG=V 6>4<, M> =44E>4OFL 4> 45D>4>E5?4F>DV6, D>7?>4V?ONFLEO <V6 =<<< 
DV6=><VD=>. 

�4 ?5DV>4 5>E??G4F4FVW 45D>4>E5?4F>DV6: 
- 6 T<=>EFOE 45D>4>E5?4F>DV6 74<V=5=V 45D4F>D< E5D54=L>?GE<DF56>7> 

F<?G =4 4DV5=>?GE<DF56>7> F<?G �&$ <�>?VEF>>= G 2004 D>FV, M> 4>76>?<?> 
7=4G=> ?>?V?L<F< D>7?>4V? ><E=N ?> >5'T<G 45D>4>E5?4F>DV6 F4 ?V46<M<?> 
5D5>F<6=VEFL 5V>?>7VG=>7> >G<M5==O EFVG=<E 6>4. 

- 6EF4=>6?5=V 7G5G4EFV 7D55=V �&$ <�>?VEF>>= =4 75VD=<E ?>F>4E 
45D>4>E5?4F>DV6. 

�4D47V =4 D>5>FV 45D>4>E5?4F>DV6 =574F<6=> ?>7=4G4NFLEO 4>?GM5=V 
?><<?>< ?D< 5G4V6=<FF6V F4 DO4 =5?D4FNNG<E F5E=>?>7VG=<E 5?5<5=FV6 
>>=EFDG>FV= =4 >>D5<<E E?>DG44E: ?D>D646V?V >V?LF56V ?5D57>D>4><, M> 
6V44V?ONFL 7>=G 457474FVW 6V4 7>=< 6V4EF>N64==O, G5D57 O>V V=F5=E<6=> 
6<=>E<FLEO 4>F<6=<= <G?. �54>EF4F=O >V?L>VEFL ?>6VFDO 6 45D4FV==V= 7>=V 
?D<76>4<FL 4> ?>DGL5==O ?D>F5EG >G<EF>< F4 =45GE4==N 4>F<6=>7> <G?G, M> 
DV7>> 7=<6GT >E446G64=VEFL G 6V4EFV==V= 7>=V.  

�EL>7> 6 =4O6=>EFV 8 45D>4>E5?4F>DV6, O>V D>7D4E>64=V =4 ?D>5>F=G 

?>FG6=VEFL, F>5F> 35 000<
3
/4>5G. &4> O> D4>F<G=>, 6 E5D54=L><G, >G<M4TFLEO 

5?<7L>> 10 000 <
3
/4>5G, F> ?D>?>=GTFLEO 4 45D>4>E5?4F>D< 6<65EF< 7 D>5>F< F4 

?D>65EF< ?>6=G D5>>=EFDG>FVN 4-E 45D>4>E5?4F>DV6 V7 74<V=>N EF4?56<E 
>>=EFDG>FV= =4 >>=EFDG>FVW 7 =5D646VNG>W EF4?V F4 45D4FV==>W E<EF5<< =4 
4DV5=>?GE<DF56G E<EF5<G. 
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�?D>64465==O 74E>4G $5>>=EFDG>FVO 45D>4>E5?4F>DG 7 1 =4 F5D<F>DVW 
>4=4?V74FV==<E >G<E=<E E?>DG4 ?> 6G?. �G4V65?L=<>V6, 7 6 <VEFV �>DVL=V �?46=V 
�>?F46EL>>W >5?4EFV 5G45 6<>>=4=> 7 <5F>N ?D>6545==O 7V4D>V7>?OFV==<E D>5VF 
G4LV 45D>4>E5?4F>D4 7 1 F4 ?V47>F>6>< WW 4> 6EF4=>6?5==O <5F4?56<E 
>>=EFDG>FV= 7 =5D646VNG>W EF4?V F4 =>6>W 4DV5=>?GE<DF56>W 45D4FV==>W E<EF5<< 
M> 6 ?>44?LL><G =444EFL 7<>7G O>VE=> >G<MG64F< EFVG=V 6>4< F4 =5 4>?GEF<FL 
6<=>EG 4>F<6=>7> <G?G. 

�4DFVEFL 74E>4G 328,92 F<E. 7D=. 
2) �<7=4G5==O EFD>>G >>G?=>EFV F4 5>>=><VG=>7> 5D5>FG 6V4 

6?D>64465==O 74E>4G V=65EF<FV==>W ?D>7D4<< $5>>=EFDG>FVO 

45D>4>E5?4F>DG 7 1 =4 F5D<F>DVW >4=4?V74FV==<E >G<E=<E E?>DG4 ?> 6G?. 
�G4V65?L=<>V6, 7 6 <VEFV �>DVL=V �?46=V �>?F46EL>>W >5?4EFV 3 =5 6<7=4G4TFLEO. 
�4EV4 ?D>6>4<FLEO 7 <5F>N ?V46<M5==O 5>>?>7VG=>W 557?5>< F4 >E>D>=< 
=46>>?<L=L>7> E5D54>6<M4. 

 3) �5�DG=FG64==O 64DF>EFV 74??4=>64=>7> 74E>4G 5G?> 6<7=4G5=> 

6V4?>6V4=> 4> D>7D4EG=>G 7474?L=>W >>LF>D<E=>W 64DF>EFV F4 ?>44=> =4 105-

106 EF>DV=>4E. 
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2.5.3. �4<V=4 D>F>D=>W ?>6VFD>4G6>< 7 L4D>N G?D46?V==O =4 ��% 74 
44D5E>N: 6G?. �G4V65?L=<>V6, 7. 

 
1.)&5E=V>>-5>>=><VG=5 >5�DG=FG64==O =5>5EV4=>EFV F4 4>FV?L=>EFV 

6?D>64465==O 74E>4G �4<V=4 D>F>D=>W ?>6VFD>4G6>< 7 L4D>N G?D46?V==O =4 

��% 74 44D5E>N: 6G?. �G4V65?L=<>V6, 7. 

�E=GNGV >4=4?V74FV==V >G<E=V E?>DG4< (=444?V ��%) <. �>DVL=V �?46=V 
5G?< ?>5G4>64=V 6 ?5DV>4 1969 3 1975 DD. �E ?>G4F>>64 ?D>5>F=4 ?D>4G>F<6=VEFL 
EF4=>6<?4 28 F<E. <3/4>5G. � ?5DV>4 V=F5=E<6=>7> D>76<F>G <VEF4 = ?V4?D<T<EF6, 
M> 5G?< D>7F4L>64=V =4 =>7> F5D<F>DVW, 6>=< 45>V?L>4 D47V6 D5>>=EFDGN64?<EL 
7V 75V?LL5==O< ?D>5>F=>W ?D>4G>F<6=>EFV. � =4E?V4>> G>7> WE ?D>5>F=4 
?D>4G>F<6=VEFL 5G?4 4>6545=4 4> 35,0 F<E. <3/4>5G. �4 >EF4==V 45EOF<DVGGO G5D57 
E>>D>G5==O F4 74>D<FFO >>D5<<E ?V4?D<T<EF6, 7<5=L5==O G<E5?L=>EFV 
=4E5?5==O, 4 F4>>6 6?D>64465==O 74E>4V6 7 D4FV>=4?L=>7> 6<>>D<EF4==O 6>4<, 
>5EO7< GF6>D5==O >><G=4?L=<E EFVG=<E EGFFT6> 7<5=L<?<EL. ' 769O7>G 7 G<< 74 
>EF4==V 45>V?L>4 D>>V6 E5D54=L>4>5>64 >V?L>VEFL >><G=4?L=<E EFVG=<E 6>4, M> 
=44E>4<FL =4 ��% =5 ?5D56<MGT 10,0 F<E. <3/4>5G. �E=GNGV ��% <. �>DVL=V 
�?46=V E>?444NFLEO 7V E?>DG4 <5E4=VG=>W F4 5V>?>7VG=>W >G<EF><, 4>>G<EF><, 4 
F4>>6 >5D>5>< >E44V6 M> GF6>DNNFLEO. �55774D465==O EFVG=<E 6>4 =5 
74V=E=NTFLEO, F4> O> ?5D5454G5=4 4?O FL>7> E?>D4F>D=4 5G?4 6<6545=4 7 
5>E??G4F4FVW M5 1978 D. 

�474?L=<= F5E=VG=<= EF4= ��% <VEF4 744>6V?L=<=, 4?5 45O>V E?>DG4< 
6V4?D4FN64?< E6V= =>D<4F<6=>-F5E=VG=<= F5D<V= 5>E??G4F4FVW V ?>FD55GNFL 
=574==>W 74<V=< G< D5>>=EFDG>FVW. 

�?O ?>44GV ?>6VFDO 6 45D>4>E5?4F>D<, 5V>?>7VG=V DV?LFD< 4>>G<M5==O 7 
<5F>N 74557?5G5==O 6<FFT4VO?L=>EFV <V>D>>D74=V7<V6 4>F<6=>7> <G?G F4 
?D<>DV??5=>W <V>D>D?>D<, 4 F4>>6 6 45D>5=V <V=5D4?V74F>D< 4?O 74557?5G5==O WE 
D>5>F< 6<>>D<EF>6GNFL =4E>E=>-?>6VFD>4G6=G EF4=FVN. 

�> >><??5>EG E?>DG4 =4E>E=>-?>6VFD>4G6=>W EF4=FVW 6E>4OFL: 7>?>6=5 
?D<<VM5==O 6 O>><G D>7<VM5=V ?>6VFD>4G6=V <4L<=<, =4E>E< F5E=VG=>W 6>4<, 
=4E>E< ?5D5>4GG64==O =44?<L>>6>7> <G?G (7 6F>D<==<E 6V4EFV==<>V6, 
GMV?L=5=>7> F4 75D>465=>7>), E<D>7> >E44G, 4D5=46=<E 6>4 (7 ?VE>>6<E 
<4=44=G<>V6, <G?>GMV?L=N64GV6 F4 6=GFDVL=L>W >4=4?V74FV==>W <5D56V), =4E>E< 
?>44GV F5E=VG=>W 6>4< (?VE?O 5V>?>7VG=>7> >G<M5==O) =4 7V4D>5?564F>D< 
?VE>>G?>6?N64GV6, 5?5>FD>D>7?>4V?L=<= ?D<EFDV= F4 FD4=ED>D<4F>D=4, 
4>?><V6=V F4 ?>5GF>6V ?D<<VM5==O. 

%5D54=V= F5D<V= D>5>F< ?>6VFD>4G6=<E 47D574FV6 =4E>E=>-?>6VFD>4G6=>W 
EF4=FVW E>?444T 7 D>>V6. �4 44=<= <><5=F ?>6VFD>4G6>4, M> ?D>?>=GTFLEO 4> 
74<V=< <>D4?L=> V DV7<G=> 74EF4DV?4, WW F5E=VG=<= EF4= T =5744>6V?L=<< F4 
?>FD55GT 7=4G=<E ?N4EL><E, DV=4=E>6<E 6<FD4F =4 D5<>=F F4 F5E=VG=5 
>5E?G7>6G64==O. �>64 ?>6VFD>4G6>4 6 ?>DV6=O==V 7 EF4D>N >D4M4 6 5>E??G4F4FVW 
F4 ?>FD55GT <5=L5 7D>L>6<E 6<FD4F. %F4DV ?>6VFD>4G6=V 47D574F< DV7<G=> 
74EF4DV?<, M> ?D<76>4<FL 4> ?>EFV==<E ?>?><>>, 4 F5 <>65 ?D<65EF< 4> 
464DV==<E E<FG4FV= =4 F4 E?D<G<=<F< 5>>?>7VG=G >4F4EFD>DG. ' 2023 D>FV 74 
>>LF< ?V4?D<T<EF64 ?44=GTFLEO ?D<454==O D>F>D=>7> 5?>>G 4?O >4?VF4?L=>7> 
D5<>=FG >4=VTW 7 ?>6VFD>4G6>>. 
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�4E>4>< ?> 74<V=V D>F>D=>W ?>6VFD>4G6>< =4 ��% 74 44D5E>N: 6G?. 
�G4V65?L=<>V6, 7 ?5D5454G5=> 74<V=G 4DG7>W  ?>6VFD>4G6>< 4?O ?>44GV ?>6VFDO 6 
45D>4>E5?4F>D< =4 >G<E=<E E?>DG44E 7 L4D>N G?D46?V==O, M> G>><??5>F>64=4 
?5D5F6>DN64G5< G4EF>F<,  F4> O> D5<>=FG 6>=4 =5 ?V4?O74T. 

�?O 6<7=4G5==O 64DF>EFV 74E>4G =4L><G ?V4?D<T<EF6G =44V=L?> 46V 
?D>?>7<FVW =4 ?>EF46>G D>F>D=>W ?>6VFD>4G6>< 7 L4D>N G?D46?V==O: 6V4 &�� 
«�4?74><D4= >><?D5E>D '>D4W=4» <. �<W6 F4 &�� «�><?D5E>D<4L-E5D6VE» <. 
%G<<. 

�4DFVEFL 74E>4G: 2992,54 F<E. 7D=. 
 

7 
?/? 

�4=<5=G64==O 
<4F5DV4?G 

�4. 
6<<VDG 

�V?L>VEFL �4DFVEFL 
>4<=<FV, 

7D=. 

�474?L=4 
64DFVEFL, 

7D=. 

�>EF4G4?L=<> 

1 �>6VFD>4G6>4 ES 
125/4/0P 

LF. 1 2380328,90 2380328,90 &�� 
«�4?74><D4= 
>><?D5E>D 
'>D4W=4» 

2 ,4D4 G?D46?O==O 7 
?5D5F6>DN64G5< 
Danfoss 132 kW 

LF. 1 612214,35 612214,35 &�� 
«�4?74><D4= 
>><?D5E>D 
'>D4W=4» 

�EL>7> 64DFVEFL 74E>4G    2992543,25  

 
2) �<7=4G5==O EFD>>G >>G?=>EFV F4 5>>=><VG=>7> 5D5>FG 6V4 

6?D>64465==O 74E>4G V=65EF<FV==>W ?D>7D4<< �4<V=4 D>F>D=>W ?>6VFD>4G6>< 
7 L4D>N G?D46?V==O =4 ��% 74 44D5E>N: 6G?. �G4V65?L=<>V6, 7 3 =5 
6<7=4G4TFLEO. �4EV4 ?D>6>4<FLEO 7 <5F>N ?V46<M5==O DV6=O >G<EF>< EFVG=<E 
6>4, 5>>?>7VG=>W 557?5>< F4 >E>D>=< =46>>?<L=L>7> E5D54>6<M4. 

 
3) �5�DG=FG64==O 64DF>EFV 74??4=>64=>7> 74E>4G 5G?> 6<7=4G5=> 

6V4?>6V4=> 4> D>7D4EG=>G 7474?L=>W >>LF>D<E=>W 64DF>EFV F4 ?>44=> =4 111-

118 EF>DV=>4E. 
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2.6. �=LV 74E>4<, 7 =<E: 
2.6.1. �4?VF4?L=<= D5<>=F <9O>>W ?>>DV6?V 44EG $�-5 4V?L=<FV 

«�4=4?V74FV==V >G<E=V E?>DG4<» <. �>DVL=V �?46=V. 
 

1.)&5E=V>>-5>>=><VG=5 >5�DG=FG64==O =5>5EV4=>EFV F4 4>FV?L=>EFV 

6?D>64465==O 74E>4G �4?VF4?L=<= D5<>=F <9O>>W ?>>DV6?V 44EG $�-5 

4V?L=<FV «�4=4?V74FV==V >G<E=V E?>DG4<» <. �>DVL=V �?46=V. 

�?O ?D<=><G F4 D>7?>4V?G 5?5>FD>5=5D7VW =4 >59T>F< >4=4?V74FV==<E 
>G<E=<E E?>DG4  �� �'��� 6<>>D<EF>6GTFLEO $� 5, O>4 ?>5G4>64=4 G 1990 
D>FV V 7=4E>4<FLEO =4 F5D<F>DVW 4V?L=<FV «�4=4?V74FV==V >G<E=V E?>DG4<» 74 
44D5E>N 6G?. �G4V65?L=<>V6, 7. �EF4==O D5>>=EFDG>FVO 5?5>FD>>5?44=4==O $� 5 
?D>6>4<?4EO G 2021 D>FV.  

�>>DV6?O =4 $�-5 <4T 74557?5GG64F< 74E<EF 5?5>FD>>5?44=4==O, M> 
7=4E>4<FLEO 6 $�-5 6V4 ?>?444==O 4>M>6>W 6>4< F4 V=L<E >E44V6. 

�4 FD<64?<= G4E 6<>>D<EF4==O (33 D>><), <9O>4 ?>>DV6?O 7DG==>64=4 
<4=65 =4 50%, 4>M>64 6>44 G5D57 4VD>< 6 ?>>DV6?V ?>FD4??OT =4 
5?5>FD>>5?44=4==O, M> T =5?D<?GEF<<> O> ?> ?D46<?4< D>5>F< 
5?5>FD>>5?44=4==O F4> V ?> ?D46<?4< 7 >E>D>=< ?D4FV ?D4FV6=<>V6. 

'4EF>>65 ?4F4==O ?>>DV6?V =5 74557?5GGT 557?5>G ?5DE>=4?G, O><= 
>5E?G7>6GT $�5, 4 F4>>6 =>D<4?L=G D>5>FG 5?5>FD>>5?44=4==O. &><G ?D<==OF> 
DVL5==O ?D>65EF< >4?VF4?L=<= D5<>=F <9O>>W ?>>DV6?V 44EG $�-5 4V?L=<FV 
«�4=4?V74FV==V >G<E=V E?>DG4<». 

�4DFVEFL 74E>4G E>?444T: - 166,42 F<E. 7D=. 
 
�<7=4G5==O EFD>>G >>G?=>EFV F4 5>>=><VG=>7> 5D5>FG 6V4 

6?D>64465==O 74E>4G V=65EF<FV==>W ?D>7D4<< �4?VF4?L=<= D5<>=F <9O>>W 

?>>DV6?V 44EG $�-5 4V?L=<FV «�4=4?V74FV==V >G<E=V E?>DG4<» <. �>DVL=V 

�?46=V. 

2) 3 =5 6<7=4G4TFLEO. �4EV4 ?D>6>4<FLEO 7 <5F>N ?V46<M5==O 
5>>?>7VG=>W 557?5><, >E>D>=< =46>>?<L=L>7> E5D54>6<M4 F4 7 <5F>N 
?V46<M5==O =444==O ?>E?G7 7 >G<M5==O EFVG=<E 6>4 =4 ��%. 

 
3) �5�DG=FG64==O 64DF>EFV 74??4=>64=>7> 74E>4G 5G?> 6<7=4G5=> 

6V4?>6V4=> 4> D>7D4EG=>G 7474?L=>W >>LF>D<E=>W 64DF>EFV F4 ?>44=> =4 122-

123 EF>DV=>4E. 
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�>5>6'O74==O �� �'��� M>4> 4>EO7=5==O 5D5>F<6=>EFV D54?V74FVW 
�=65EF<FV==>W ?D>7D4<< G ED5DV F5=FD4?V7>64=>7> 6>4>?>EF4G4==O F4 
6>4>6V46545==O =4 2024 DV>.  
  

1. �=<65==O ?<F><<E 6<FD4F, 4 F4>>6 6FD4F D5EGDEV6:  
- 5=5D7>D5EGDE< 3 2701,12 >�F/DV>; 0,33 F.G.?.   
- 6<FD4F< V 6FD4F< 6>4< 3 8244,84 <3/DV>.  
2. �V46<M5==O O>>EFV ?>E?G7:  
- 74557?5G5==O FV?>4>5>6>7> F4 =44V==>7> 6>4>?>EF4G4==O F4 6>4>6V46545==O;  
- 74557?5G5==O 6<E>>>7> DV6=O >5E?G7>6G64==O E?>6<64GV6.  
  
  
  
  
  
  
  
  
  
 
  
�<D5>F>D                                                   ________________             %5D7V= /$�,  
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/, /D>L %5D7V= �<E4=?>6<G, 44N 77>4G 6V4?>6V4=> 4> �4>>=G '>D4W=< <�D> 
74E<EF ?5DE>=4?L=<E 44=<E= =4 >5D>5>G <>WE >E>5<EF<E ?5DE>=4?L=<E 44=<E G 
>4DF>F5>4E F4/45> 74 4>?><>7>N V=D>D<4FV==>-F5?5>><G=V>4FV==<E E<EF5< 7 <5F>N 
?V47>F>6>< 6V4?>6V4=> 4> 6<<>7 74>>=>446EF64 EF4F<EF<G=>W, 44<V=VEFD4F<6=>W F4 
V=L>W V=D>D<4FVW 7 ?<F4=L 4VO?L=>EFV ?VF5=7V4F4.  
  
  
  
�<D5>F>D                                           ________________                    %5D7V= /$�,  
           
 
                     __________________          <____=______________2023 D>>G  
                           (?V4?<E)                                                (44F4)                                                           
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